

Informazione Regolamentata n. 20250-62-2025

Data/Ora Inizio Diffusione 11 Agosto 2025 17:30:10

Euronext Milan

Societa': TECHNOPROBE

Identificativo Informazione

Regolamentata

209201

Utenza - referente : TECHNOPROBEN05 - Facciotti

Tipologia : REGEM

Data/Ora Ricezione : 11 Agosto 2025 17:30:10

Data/Ora Inizio Diffusione : 11 Agosto 2025 17:30:10

Oggetto : Technoprobe: weekly press release on treasury

shares buyback plan - August 11st, 2025

Testo del comunicato

Vedi allegato









PRESS RELEASE

WEEKLY PRESS RELEASE ON TREASURY SHARES BUYBACK PLAN

Cernusco Lombardone (LC). August 11, 2025 - Technoprobe S.p.A., a leading company in the design and production of probe cards (the "Company" or "Technoprobe") listed on Euronext Milan, declares the purchase on the Euronext Milan market, according to the Shareholders' Meeting on July 10, 2025 approval and initiated by the Board of Directors on July 23, 2025 (already object of informative also according to art.144 bis of the Consob Regulation 11971/99 and art. 132 of Legislative Decree no. 58/98), in the period from August 4, 2025 to August 8, 2025, of n. 565,000 ordinary shares (equal to 0,08649% of the share capital) at the weighted average price of Euro 6,843314 for a total value of EUR 3,839,465.30.

Purchases were made through the intermediary Intesa SanPaolo S.p.A.

Below there is a detail of the purchases made on the ordinary shares of Technoprobe S.p.A., code ISIN IT0005482333, on a daily basis, in detail, the transactions made in the aforementioned period.

<u>Date</u>	Quantity	Average price (Euro)	Countervalue (Euro)
04/08/2025	90,000	7.17183	645,464.70
05/08/2025	95,000	7.04282	669,067.90
06/08/2025	105,000	6.95078	729,831.90
07/08/2025	140,000	6.63938	929,513.20
08/08/2025	135,000	6.41176	865.587,60

The details of all the purchase transactions carried out in the period indicated above are reported in the following pages.

Therefore as at August 8, 2025 the Company owns no. 7,007,451 ordinary shares (equal to 1,07269% of the share capital).

This press release is available on Technoprobe's website https://www.technoprobe.com in the Investor Relations section and on the authorized storage system named eMarket Storage" (www.emarketstorage.it).









Contact

Technoprobe S.p.A. Investor Relator Ines Di Terlizzi

Email: ir@technoprobe.com

Technoprobe S.p.A.

Communication & Marketing Manager Paolo Cavallotti

Email: paolo.cavallotti@technoprobe.com

Technoprobe Group

Technophobe is a leading company in the field of semiconductors and microelectronics. Established in 1996. Technoprobe is focused in the design and manufacture of Probe Cards. i.e. electro-mechanical interfaces used for the functional testing of chips. Probe cards are hitech devices that are custom-made for each chip and allow the function of chips to be tested during the manufacturing process. These technologically-advanced designs and solutions are essential for ensuring the proper functioning and reliability of devices that play a crucial role in industries such as Information Technology. 5G. Internet of Things. home automation. automotive. aerospace. etc. Technoprobe headquarters are in Cernusco Lombardone (LC). Since May 2nd. 2023 shares have been transferred to Euronext Milano segment. For more information. visit the website: www.technoprobe.com







Fill ID	Fill Date	Fill Time	B/S	Country	Market	Security Ref.	Fill Price	Fill Qty	Eur
1ZAZHKTY8	04/08/2025	09:22:33	Buy	IT.ico	MTA	TPRO	7.215	193	1392.495
1ZAZHKTY9	04/08/2025	09:22:33	Buy	IT.ico	MTA	TPRO	7.215	190	1370.85
1ZAZHKTYA	04/08/2025	09:22:43	Buy	IT.ico	MTA	TPRO	7.215	1,000	7215
1ZAZHKTZD	04/08/2025	09:24:05	Buy	IT.ico	MTA	TPRO	7.21	1,000	7210
1ZAZHKU1A	04/08/2025	09:25:14	Buy	IT.ico	MTA	TPRO	7.205	1,000	7205
1ZAZHKUE3	04/08/2025	09:32:15	Buy	IT.ico	MTA	TPRO	7.22	1,000	7220
1ZAZHKUHB	04/08/2025	09:33:58	Buy	IT.ico	MTA	TPRO	7.21	849	6121.29
1ZAZHKUHC	04/08/2025	09:33:58	Buy	IT.ico	MTA	TPRO	7.21	151	1088.71
1ZAZHKUNY	04/08/2025	09:39:57	Buy	IT.ico	MTA	TPRO	7.21	1,000	7210
1ZAZHKUQW	04/08/2025	09:43:21	Buy	IT.ico	MTA	TPRO	7.235	676	4890.86
1ZAZHKUS1	04/08/2025	09:45:19	Buy	IT.ico	MTA	TPRO	7.235	1,000	7235
1ZAZHKUTR	04/08/2025	09:46:44	Buy	IT.ico	MTA	TPRO	7.225	79	570.775
1ZAZHKUTS	04/08/2025	09:46:44	Buy	IT.ico	MTA	TPRO	7.225	378	2731.05
1ZAZHKUTT	04/08/2025	09:46:44	Buy	IT.ico	MTA	TPRO	7.225	543	3923.175
1ZAZHKV1X	04/08/2025	09:52:49	Buy	IT.ico	MTA	TPRO	7.225	372	2687.7
1ZAZHKV1Y	04/08/2025	09:52:49	Buy	IT.ico	MTA	TPRO	7.225	109	787.525
1ZAZHKV7N	04/08/2025	09:58:00	Buy	IT.ico	MTA	TPRO	7.22	1,000	7220
1ZAZHKV7O	04/08/2025	09:58:00	Buy	IT.ico	MTA	TPRO	7.22	1,000	7220
1ZAZHKVFL	04/08/2025	10:05:38	Buy	IT.ico	MTA	TPRO	7.225	200	1445
1ZAZHKVFM	04/08/2025	10:05:38	Buy	IT.ico	MTA	TPRO	7.225	200	1445
1ZAZHKVIG	04/08/2025	10:08:17	Buy	IT.ico	MTA	TPRO	7.22	1,000	7220
1ZAZHKVYL	04/08/2025	10:21:38	Buy	IT.ico	MTA	TPRO	7.205	80	576.4
1ZAZHKVZM	04/08/2025	10:23:29	Buy	IT.ico	MTA	TPRO	7.205	131	943.855
1ZAZHKW3Q	04/08/2025	10:25:50	Buy	IT.ico	MTA	TPRO	7.205	1,000	7205
1ZAZHKW53	04/08/2025	10:27:40	Buy	IT.ico	MTA	TPRO	7.205	1,000	7205
1ZAZHKW55	04/08/2025	10:27:40	Buy	IT.ico	MTA	TPRO	7.205	586	4222.13
1ZAZHKW56	04/08/2025	10:27:40	Buy	IT.ico	MTA	TPRO	7.205	414	2982.87
1ZAZHKW5R	04/08/2025	10:28:08	Buy	IT.ico	MTA	TPRO	7.2	105	756
1ZAZHKWHA	04/08/2025	10:40:13	Buy	IT.ico	MTA	TPRO	7.2	1,000	7200
1ZAZHKWHE	04/08/2025	10:40:13	Buy	IT.ico	MTA	TPRO	7.195	372	2676.54
1ZAZHKWHO	04/08/2025	10:40:37	Buy	IT.ico	MTA	TPRO	7.195	1,000	7195
1ZAZHKWHR	04/08/2025	10:40:42	Buy	IT.ico	MTA	TPRO	7.18	446	3202.28
1ZAZHKWHS	04/08/2025	10:40:42	Buy	IT.ico	MTA	TPRO	7.18	554	3977.72
1ZAZHKWMT	04/08/2025	10:44:39	Buy	IT.ico	MTA	TPRO	7.185	200	1437
1ZAZHKWMU	04/08/2025	10:44:39	Buy	IT.ico	MTA	TPRO	7.185	443	3182.955
1ZAZHKWMV	04/08/2025	10:44:39	Buy	IT.ico	MTA	TPRO	7.185	357	2565.045
1ZAZHKWMZ	04/08/2025	10:44:42	Buy	IT.ico	MTA	TPRO	7.185	586	4210.41







1ZAZHKWN0	04/08/2025	10:44:42	Buy	IT.ico	MTA	TPRO	7.185	200	1437
			,						
1ZAZHKWN1	04/08/2025	10:44:42	Buy	IT.ico	MTA	TPRO	7.185	107	768.795
1ZAZHKWN2	04/08/2025	10:44:42	Buy	IT.ico	MTA	TPRO	7.185	107	768.795
1ZAZHKWN8	04/08/2025	10:44:47	Buy	IT.ico	MTA	TPRO	7.165	107	766.655
1ZAZHKX49	04/08/2025	11:02:01	Buy	IT.ico	MTA	TPRO	7.195	1,000	7195
1ZAZHKX4B	04/08/2025	11:02:01	Buy	IT.ico	MTA	TPRO	7.195	1,000	7195
1ZAZHKX4C	04/08/2025	11:02:01	Buy	IT.ico	MTA	TPRO	7.195	200	1439
1ZAZHKX4G	04/08/2025	11:02:03	Buy	IT.ico	MTA	TPRO	7.185	622	4469.07
1ZAZHKXCY	04/08/2025	11:11:11	Buy	IT.ico	MTA	TPRO	7.215	1,000	7215
1ZAZHKXGL	04/08/2025	11:15:17	Buy	IT.ico	MTA	TPRO	7.205	1,000	7205
1ZAZHKXGN	04/08/2025	11:15:17	Buy	IT.ico	MTA	TPRO	7.205	1,000	7205
1ZAZHKXLO	04/08/2025	11:16:51	Buy	IT.ico	MTA	TPRO	7.19	26	186.94
1ZAZHKXMW	04/08/2025	11:18:33	Buy	IT.ico	MTA	TPRO	7.19	1,000	7190
1ZAZHKY1L	04/08/2025	11:38:32	Buy	IT.ico	MTA	TPRO	7.195	1,000	7195
1ZAZHKY1M	04/08/2025	11:38:32	Buy	IT.ico	MTA	TPRO	7.195	1,000	7195
1ZAZHKY2N	04/08/2025	11:42:01	Buy	IT.ico	MTA	TPRO	7.19	12	86.28
1ZAZHKY2P	04/08/2025	11:42:04	Buy	IT.ico	MTA	TPRO	7.19	12	86.28
1ZAZHKY53	04/08/2025	11:44:35	Buy	IT.ico	MTA	TPRO	7.19	12	86.28
1ZAZHKY56	04/08/2025	11:44:36	Buy	IT.ico	MTA	TPRO	7.19	48	345.12
1ZAZHKY57	04/08/2025	11:44:36	Buy	IT.ico	MTA	TPRO	7.19	952	6844.88
1ZAZHKY6A	04/08/2025	11:45:13	Buy	IT.ico	MTA	TPRO	7.185	610	4382.85
1ZAZHKY6B	04/08/2025	11:45:13	Buy	IT.ico	MTA	TPRO	7.185	390	2802.15
1ZAZHKYLQ	04/08/2025	11:55:11	Buy	IT.ico	MTA	TPRO	7.18	235	1687.3
1ZAZHKYLR	04/08/2025	11:55:11	Buy	IT.ico	MTA	TPRO	7.18	244	1751.92
1ZAZHKYLS	04/08/2025	11:55:11	Buy	IT.ico	MTA	TPRO	7.18	129	926.22
1ZAZHKYLT	04/08/2025	11:55:11	Buy	IT.ico	MTA	TPRO	7.18	14	100.52
1ZAZHKYLU	04/08/2025	11:55:11	Buy	IT.ico	MTA	TPRO	7.18	4	28.72
1ZAZHKYYD	04/08/2025	12:09:28	Buy	IT.ico	MTA	TPRO	7.195	1,000	7195
1ZAZHKZ87	04/08/2025	12:26:50	Buy	IT.ico	MTA	TPRO	7.195	1,000	7195
1ZAZHKZDW	04/08/2025	12:34:29	Buy	IT.ico	MTA	TPRO	7.2	1,000	7200
1ZAZHKZG3	04/08/2025	12:38:08	Buy	IT.ico	MTA	TPRO	7.195	1,000	7195
1ZAZHKZG5	04/08/2025	12:38:08	Buy	IT.ico	MTA	TPRO	7.195	243	1748.385
1ZAZHKZG6	04/08/2025	12:38:08	Buy	IT.ico	MTA	TPRO	7.195	757	5446.615
1ZAZHKZH2	04/08/2025	12:38:18	Buy	IT.ico	MTA	TPRO	7.19	989	7110.91
1ZAZHKZQO	04/08/2025	13:00:11	Buy	IT.ico	MTA	TPRO	7.18	12	86.16
1ZAZHKZQS	04/08/2025	13:00:11	Buy	IT.ico	MTA	TPRO	7.18	1,000	7180
1ZAZHKZUK	04/08/2025	13:07:57	Buy	IT.ico	MTA	TPRO	7.165	113	809.645
1ZAZHKZUL	04/08/2025	13:07:57	Buy	IT.ico	MTA	TPRO	7.175	200	1435









1ZAZHKZV1	04/08/2025	13:09:01	Buy	IT.ico	MTA	TPRO	7.17	48	344.16
1ZAZHKZV2	04/08/2025	13:09:01	Buy	IT.ico	MTA	TPRO	7.17	187	1340.79
1ZAZHKZV3	04/08/2025	13:09:01	Buy	IT.ico	MTA	TPRO	7.17	813	5829.21
1ZAZHL02B	04/08/2025	13:14:01	Buy	IT.ico	MTA	TPRO	7.17	575	4122.75
1ZAZHL08M	04/08/2025	13:25:34	Buy	IT.ico	MTA	TPRO	7.195	1,000	7195
1ZAZHL08O	04/08/2025	13:25:34	Buy	IT.ico	MTA	TPRO	7.195	154	1108.03
1ZAZHL08P	04/08/2025	13:25:34	Buy	IT.ico	MTA	TPRO	7.195	846	6086.97
1ZAZHL0E1	04/08/2025	13:33:18	Buy	IT.ico	MTA	TPRO	7.18	1,000	7180
1ZAZHL0IG	04/08/2025	13:42:29	Buy	IT.ico	MTA	TPRO	7.17	594	4258.98
1ZAZHL0IH	04/08/2025	13:42:29	Buy	IT.ico	MTA	TPRO	7.17	12	86.04
1ZAZHL0II	04/08/2025	13:42:30	Buy	IT.ico	MTA	TPRO	7.17	56	401.52
1ZAZHL0IJ	04/08/2025	13:42:30	Buy	IT.ico	MTA	TPRO	7.17	338	2423.46
1ZAZHL0QA	04/08/2025	13:58:42	Buy	IT.ico	MTA	TPRO	7.18	200	1436
1ZAZHL0QB	04/08/2025	13:58:42	Buy	IT.ico	MTA	TPRO	7.18	800	5744
1ZAZHL0V1	04/08/2025	14:10:57	Buy	IT.ico	MTA	TPRO	7.2	50	360
1ZAZHL0V2	04/08/2025	14:10:57	Buy	IT.ico	MTA	TPRO	7.2	163	1173.6
1ZAZHL0ZI	04/08/2025	14:15:53	Buy	IT.ico	MTA	TPRO	7.2	3	21.6
1ZAZHL0ZJ	04/08/2025	14:15:53	Buy	IT.ico	MTA	TPRO	7.2	1,000	7200
1ZAZHL10Y	04/08/2025	14:18:21	Buy	IT.ico	MTA	TPRO	7.19	1	7.19
1ZAZHL10Z	04/08/2025	14:18:21	Buy	IT.ico	MTA	TPRO	7.19	22	158.18
1ZAZHL110	04/08/2025	14:18:21	Buy	IT.ico	MTA	TPRO	7.19	1	7.19
1ZAZHL111	04/08/2025	14:18:21	Buy	IT.ico	MTA	TPRO	7.19	11	79.09
1ZAZHL112	04/08/2025	14:18:21	Buy	IT.ico	MTA	TPRO	7.19	1	7.19
1ZAZHL11W	04/08/2025	14:21:03	Buy	IT.ico	MTA	TPRO	7.19	1	7.19
1ZAZHL148	04/08/2025	14:28:27	Buy	IT.ico	MTA	TPRO	7.19	2	14.38
1ZAZHL18N	04/08/2025	14:32:50	Buy	IT.ico	MTA	TPRO	7.19	1,000	7190
1ZAZHL18T	04/08/2025	14:33:05	Buy	IT.ico	MTA	TPRO	7.185	1,000	7185
1ZAZHL18U	04/08/2025	14:33:05	Buy	IT.ico	MTA	TPRO	7.185	1,000	7185
1ZAZHL1C8	04/08/2025	14:41:29	Buy	IT.ico	MTA	TPRO	7.22	1,000	7220
1ZAZHL1EJ	04/08/2025	14:45:00	Buy	IT.ico	MTA	TPRO	7.21	1,000	7210
1ZAZHL1JL	04/08/2025	14:50:32	Buy	IT.ico	MTA	TPRO	7.185	258	1853.73
1ZAZHL1JM	04/08/2025	14:50:32	Buy	IT.ico	MTA	TPRO	7.185	14	100.59
1ZAZHL1JN	04/08/2025	14:50:32	Buy	IT.ico	MTA	TPRO	7.185	18	129.33
1ZAZHL1JO	04/08/2025	14:50:32	Buy	IT.ico	MTA	TPRO	7.185	1	7.185
1ZAZHL1JP	04/08/2025	14:50:32	Buy	IT.ico	MTA	TPRO	7.185	11	79.035
1ZAZHL1JQ	04/08/2025	14:50:32	Buy	IT.ico	MTA	TPRO	7.185	1	7.185
1ZAZHL1LK	04/08/2025	14:53:44	Buy	IT.ico	MTA	TPRO	7.195	1,000	7195
1ZAZHL1OW	04/08/2025	14:59:28	Buy	IT.ico	MTA	TPRO	7.205	174	1253.67









1ZAZHL1OX	04/08/2025	14:59:28	Buy	IT.ico	MTA	TPRO	7.205	12	86.46
1ZAZHL1OY	04/08/2025	14:59:28	Buy	IT.ico	MTA	TPRO	7.205	814	5864.87
1ZAZHL1PG	04/08/2025	15:00:15	Buy	IT.ico	MTA	TPRO	7.2	15	108
1ZAZHL1PH	04/08/2025	15:00:15	Buy	IT.ico	MTA	TPRO	7.2	652	4694.4
1ZAZHL1PI	04/08/2025	15:00:15	Buy	IT.ico	MTA	TPRO	7.2	333	2397.6
1ZAZHL1WC	04/08/2025	15:10:03	Buy	IT.ico	MTA	TPRO	7.17	1,000	7170
1ZAZHL1YI	04/08/2025	15:12:08	Buy	IT.ico	MTA	TPRO	7.16	346	2477.36
1ZAZHL29H	04/08/2025	15:22:07	Buy	IT.ico	MTA	TPRO	7.155	1,000	7155
1ZAZHL29L	04/08/2025	15:22:07	Buy	IT.ico	MTA	TPRO	7.15	200	1430
1ZAZHL29M	04/08/2025	15:22:07	Buy	IT.ico	MTA	TPRO	7.155	287	2053.485
1ZAZHL29N	04/08/2025	15:22:07	Buy	IT.ico	MTA	TPRO	7.155	513	3670.515
1ZAZHL2EK	04/08/2025	15:29:28	Buy	IT.ico	MTA	TPRO	7.135	12	85.62
1ZAZHL2EL	04/08/2025	15:29:28	Buy	IT.ico	MTA	TPRO	7.135	19	135.565
1ZAZHL2EM	04/08/2025	15:29:28	Buy	IT.ico	MTA	TPRO	7.135	3	21.405
1ZAZHL2EN	04/08/2025	15:29:28	Buy	IT.ico	MTA	TPRO	7.135	9	64.215
1ZAZHL2EO	04/08/2025	15:29:28	Buy	IT.ico	MTA	TPRO	7.135	12	85.62
1ZAZHL2ES	04/08/2025	15:29:28	Buy	IT.ico	MTA	TPRO	7.135	12	85.62
1ZAZHL2ET	04/08/2025	15:29:28	Buy	IT.ico	MTA	TPRO	7.135	54	385.29
1ZAZHL2EU	04/08/2025	15:29:28	Buy	IT.ico	MTA	TPRO	7.135	1	7.135
1ZAZHL2EV	04/08/2025	15:29:28	Buy	IT.ico	MTA	TPRO	7.135	5	35.675
1ZAZHL2EW	04/08/2025	15:29:28	Buy	IT.ico	MTA	TPRO	7.135	6	42.81
1ZAZHL2EX	04/08/2025	15:29:28	Buy	IT.ico	MTA	TPRO	7.135	1	7.135
1ZAZHL2FQ	04/08/2025	15:30:13	Buy	IT.ico	MTA	TPRO	7.13	292	2081.96
1ZAZHL2FR	04/08/2025	15:30:13	Buy	IT.ico	MTA	TPRO	7.13	708	5048.04
1ZAZHL2GK	04/08/2025	15:30:30	Buy	IT.ico	MTA	TPRO	7.12	1,000	7120
1ZAZHL2QN	04/08/2025	15:40:13	Buy	IT.ico	MTA	TPRO	7.13	686	4891.18
1ZAZHL2QO	04/08/2025	15:40:13	Buy	IT.ico	MTA	TPRO	7.13	314	2238.82
1ZAZHL2VB	04/08/2025	15:45:20	Buy	IT.ico	MTA	TPRO	7.14	659	4705.26
1ZAZHL2VC	04/08/2025	15:45:20	Buy	IT.ico	MTA	TPRO	7.14	341	2434.74
1ZAZHL30R	04/08/2025	15:49:13	Buy	IT.ico	MTA	TPRO	7.135	1,000	7135
1ZAZHL33H	04/08/2025	15:52:00	Buy	IT.ico	MTA	TPRO	7.125	1,000	7125
1ZAZHL38E	04/08/2025	15:57:00	Buy	IT.ico	MTA	TPRO	7.105	1,000	7105
1ZAZHL3E2	04/08/2025	16:03:11	Buy	IT.ico	MTA	TPRO	7.105	1,000	7105
1ZAZHL3JG	04/08/2025	16:07:04	Buy	IT.ico	MTA	TPRO	7.095	444	3150.18
1ZAZHL3RH	04/08/2025	16:15:22	Buy	IT.ico	MTA	TPRO	7.085	611	4328.935
1ZAZHL3TP	04/08/2025	16:16:44	Buy	IT.ico	MTA	TPRO	7.1	173	1228.3
1ZAZHL3WC	04/08/2025	16:19:27	Buy	IT.ico	MTA	TPRO	7.11	100	711
1ZAZHL3WD	04/08/2025	16:19:27	Buy	IT.ico	MTA	TPRO	7.11	271	1926.81









1ZAZHL3WJ	04/08/2025	16:19:28	Buy	IT.ico	MTA	TPRO	7.105	163	1158.115
1ZAZHL3WK	04/08/2025	16:19:28	Buy	IT.ico	MTA	TPRO	7.105	837	5946.885
1ZAZHL3Y2	04/08/2025	16:20:58	Buy	IT.ico	MTA	TPRO	7.1	199	1412.9
1ZAZHL3Y3	04/08/2025	16:20:58	Buy	IT.ico	MTA	TPRO	7.1	801	5687.1
1ZAZHL3ZJ	04/08/2025	16:22:34	Buy	IT.ico	MTA	TPRO	7.1	110	781
1ZAZHL3ZK	04/08/2025	16:22:34	Buy	IT.ico	MTA	TPRO	7.1	890	6319
1ZAZHL4AP	04/08/2025	16:29:28	Buy	IT.ico	MTA	TPRO	7.095	712	5051.64
1ZAZHL4CN	04/08/2025	16:31:12	Buy	IT.ico	MTA	TPRO	7.105	173	1229.165
1ZAZHL4DI	04/08/2025	16:32:24	Buy	IT.ico	MTA	TPRO	7.115	127	903.605
1ZAZHL4DJ	04/08/2025	16:32:25	Buy	IT.ico	MTA	TPRO	7.115	136	967.64
1ZAZHL4E3	04/08/2025	16:33:01	Buy	IT.ico	MTA	TPRO	7.12	80	569.6
1ZAZHL4E4	04/08/2025	16:33:01	Buy	IT.ico	MTA	TPRO	7.12	80	569.6
1ZAZHL4E5	04/08/2025	16:33:01	Buy	IT.ico	MTA	TPRO	7.12	80	569.6
1ZAZHL4F3	04/08/2025	16:34:02	Buy	IT.ico	MTA	TPRO	7.135	286	2040.61
1ZAZHL4GL	04/08/2025	16:35:54	Buy	IT.ico	MTA	TPRO	7.125	320	2280
1ZAZHL4GM	04/08/2025	16:35:54	Buy	IT.ico	MTA	TPRO	7.125	680	4845
1ZAZHL4H2	04/08/2025	16:36:21	Buy	IT.ico	MTA	TPRO	7.125	628	4474.5
1ZAZHL4H3	04/08/2025	16:36:21	Buy	IT.ico	MTA	TPRO	7.125	372	2650.5
1ZAZHL4KQ	04/08/2025	16:40:12	Buy	IT.ico	MTA	TPRO	7.14	49	349.86
1ZAZHL4KR	04/08/2025	16:40:12	Buy	IT.ico	MTA	TPRO	7.14	137	978.18
1ZAZHL4KS	04/08/2025	16:40:12	Buy	IT.ico	MTA	TPRO	7.14	202	1442.28
1ZAZHL4KT	04/08/2025	16:40:12	Buy	IT.ico	MTA	TPRO	7.14	175	1249.5
1ZAZHL4KU	04/08/2025	16:40:12	Buy	IT.ico	MTA	TPRO	7.14	145	1035.3
1ZAZHL4MZ	04/08/2025	16:41:58	Buy	IT.ico	MTA	TPRO	7.13	1,000	7130
1ZAZHL4P9	04/08/2025	16:45:12	Buy	IT.ico	MTA	TPRO	7.12	1,000	7120
1ZAZHL4UT	04/08/2025	16:51:01	Buy	IT.ico	MTA	TPRO	7.125	681	4852.125
1ZAZHL4UU	04/08/2025	16:51:01	Buy	IT.ico	MTA	TPRO	7.125	319	2272.875
1ZAZHL56D	04/08/2025	16:54:57	Buy	IT.ico	MTA	TPRO	7.135	500	3567.5
1ZAZHL56E	04/08/2025	16:54:57	Buy	IT.ico	MTA	TPRO	7.135	500	3567.5
1ZAZHL5GS	04/08/2025	17:00:10	Buy	IT.ico	MTA	TPRO	7.145	175	1250.375
1ZAZHL5GT	04/08/2025	17:00:10	Buy	IT.ico	MTA	TPRO	7.145	450	3215.25
1ZAZHL5GU	04/08/2025	17:00:10	Buy	IT.ico	MTA	TPRO	7.145	375	2679.375
1ZAZHL5HG	04/08/2025	17:00:35	Buy	IT.ico	MTA	TPRO	7.14	1,000	7140
1ZAZHL5O0	04/08/2025	17:05:54	Buy	IT.ico	MTA	TPRO	7.13	200	1426
1ZAZHL5O1	04/08/2025	17:05:54	Buy	IT.ico	MTA	TPRO	7.13	116	827.08
1ZAZHL5O2	04/08/2025	17:05:54	Buy	IT.ico	MTA	TPRO	7.13	86	613.18
1ZAZHL5O3	04/08/2025	17:05:54	Buy	IT.ico	MTA	TPRO	7.13	140	998.2
1ZAZHL5SP	04/08/2025	17:07:59	Buy	IT.ico	MTA	TPRO	7.125	200	1425









1ZAZHL5YG	04/08/2025	17:10:23	Buy	IT.ico	MTA	TPRO	7.125	770	5486.25
1ZAZHL5YH	04/08/2025	17:10:23	Buy	IT.ico	MTA	TPRO	7.125	115	819.375
1ZAZHL5YI	04/08/2025	17:10:23	Buy	IT.ico	MTA	TPRO	7.125	115	819.375
1ZAZHL61G	04/08/2025	17:12:55	Buy	IT.ico	MTA	TPRO	7.125	550	3918.75
1ZAZHL61H	04/08/2025	17:12:55	Buy	IT.ico	MTA	TPRO	7.125	450	3206.25
1ZAZHL61T	04/08/2025	17:13:55	Buy	IT.ico	MTA	TPRO	7.12	114	811.68
1ZAZHL627	04/08/2025	17:14:28	Buy	IT.ico	MTA	TPRO	7.12	84	598.08
1ZAZHL66P	04/08/2025	17:17:10	Buy	IT.ico	MTA	TPRO	7.125	234	1667.25
1ZAZHL66Q	04/08/2025	17:17:10	Buy	IT.ico	MTA	TPRO	7.125	136	969
1ZAZHL68H	04/08/2025	17:18:34	Buy	IT.ico	MTA	TPRO	7.12	383	2726.96
1ZAZHL69T	04/08/2025	17:19:09	Buy	IT.ico	MTA	TPRO	7.12	767	5461.04
1ZAZHL69U	04/08/2025	17:19:09	Buy	IT.ico	MTA	TPRO	7.12	233	1658.96
1ZAZHL6BG	04/08/2025	17:20:35	Buy	IT.ico	MTA	TPRO	7.12	27	192.24
1ZAZHL6BH	04/08/2025	17:20:35	Buy	IT.ico	MTA	TPRO	7.12	653	4649.36
1ZAZHL6JJ	04/08/2025	17:24:31	Buy	IT.ico	MTA	TPRO	7.13	1,000	7130
1ZAZHL6TU	04/08/2025	17:27:25	Buy	IT.ico	MTA	TPRO	7.13	119	848.47
1ZAZHL6TV	04/08/2025	17:27:25	Buy	IT.ico	MTA	TPRO	7.13	147	1048.11
1ZAZHL6Z7	04/08/2025	17:29:30	Buy	IT.ico	MTA	TPRO	7.14	6	42.84
1ZAZHL714	04/08/2025	17:29:48	Buy	IT.ico	MTA	TPRO	7.13	154	1098.02
1ZAZHL9T7	05/08/2025	09:14:47	Buy	IT.ico	MTA	TPRO	7.16	1,000	7160
1ZAZHL9T9	05/08/2025	09:14:47	Buy	IT.ico	MTA	TPRO	7.16	200	1432
1ZAZHL9TA	05/08/2025	09:14:47	Buy	IT.ico	MTA	TPRO	7.16	67	479.72
1ZAZHL9TB	05/08/2025	09:14:47	Buy	IT.ico	MTA	TPRO	7.16	72	515.52
1ZAZHL9TC	05/08/2025	09:14:47	Buy	IT.ico	MTA	TPRO	7.16	661	4732.76
1ZAZHLA2M	05/08/2025	09:21:00	Buy	IT.ico	MTA	TPRO	7.145	285	2036.325
1ZAZHLA3U	05/08/2025	09:23:03	Buy	IT.ico	MTA	TPRO	7.145	853	6094.685
1ZAZHLA3V	05/08/2025	09:23:03	Buy	IT.ico	MTA	TPRO	7.145	147	1050.315
1ZAZHLAA4	05/08/2025	09:26:07	Buy	IT.ico	MTA	TPRO	7.145	1,000	7145
1ZAZHLAAR	05/08/2025	09:26:31	Buy	IT.ico	MTA	TPRO	7.14	1,000	7140
1ZAZHLAET	05/08/2025	09:28:57	Buy	IT.ico	MTA	TPRO	7.12	650	4628
1ZAZHLAMT	05/08/2025	09:34:57	Buy	IT.ico	MTA	TPRO	7.12	1,000	7120
1ZAZHLAO6	05/08/2025	09:35:57	Buy	IT.ico	MTA	TPRO	7.11	1,000	7110
1ZAZHLAP9	05/08/2025	09:37:01	Buy	IT.ico	MTA	TPRO	7.085	1,000	7085
1ZAZHLAZ2	05/08/2025	09:45:09	Buy	IT.ico	MTA	TPRO	7.09	1,000	7090
1ZAZHLAZ4	05/08/2025	09:45:11	Buy	IT.ico	MTA	TPRO	7.085	880	6234.8
1ZAZHLAZ5	05/08/2025	09:45:11	Buy	IT.ico	MTA	TPRO	7.085	120	850.2
1ZAZHLBDF	05/08/2025	09:52:26	Buy	IT.ico	MTA	TPRO	7.08	705	4991.4
1ZAZHLBDG	05/08/2025	09:52:26	Buy	IT.ico	MTA	TPRO	7.08	295	2088.6









1ZAZHLBFZ	05/08/2025	09:55:54	Buy	IT.ico	MTA	TPRO	7.08	1,000	7080
1ZAZHLBG3	05/08/2025	09:55:54	Buy	IT.ico	MTA	TPRO	7.08	721	5104.68
1ZAZHLBG4	05/08/2025	09:55:54	Buy	IT.ico	MTA	TPRO	7.08	241	1706.28
1ZAZHLBG5	05/08/2025	09:55:54	Buy	IT.ico	MTA	TPRO	7.08	38	269.04
1ZAZHLBR7	05/08/2025	10:03:46	Buy	IT.ico	MTA	TPRO	7.1	408	2896.8
1ZAZHLBR8	05/08/2025	10:03:46	Buy	IT.ico	MTA	TPRO	7.1	592	4203.2
1ZAZHLBTN	05/08/2025	10:07:11	Buy	IT.ico	MTA	TPRO	7.09	1,000	7090
1ZAZHLBTP	05/08/2025	10:07:11	Buy	IT.ico	MTA	TPRO	7.085	200	1417
1ZAZHLBTQ	05/08/2025	10:07:11	Buy	IT.ico	MTA	TPRO	7.085	72	510.12
1ZAZHLBTR	05/08/2025	10:07:11	Buy	IT.ico	MTA	TPRO	7.085	74	524.29
1ZAZHLBTS	05/08/2025	10:07:11	Buy	IT.ico	MTA	TPRO	7.085	72	510.12
1ZAZHLBTT	05/08/2025	10:07:11	Buy	IT.ico	MTA	TPRO	7.09	270	1914.3
1ZAZHLBTU	05/08/2025	10:07:11	Buy	IT.ico	MTA	TPRO	7.09	77	545.93
1ZAZHLBTV	05/08/2025	10:07:11	Buy	IT.ico	MTA	TPRO	7.09	235	1666.15
1ZAZHLC0M	05/08/2025	10:15:52	Buy	IT.ico	MTA	TPRO	7.09	757	5367.13
1ZAZHLC6Z	05/08/2025	10:25:07	Buy	IT.ico	MTA	TPRO	7.105	800	5684
1ZAZHLC7J	05/08/2025	10:26:00	Buy	IT.ico	MTA	TPRO	7.105	429	3048.045
1ZAZHLC7K	05/08/2025	10:26:00	Buy	IT.ico	MTA	TPRO	7.105	250	1776.25
1ZAZHLC7L	05/08/2025	10:26:00	Buy	IT.ico	MTA	TPRO	7.105	13	92.365
1ZAZHLC8Z	05/08/2025	10:27:01	Buy	IT.ico	MTA	TPRO	7.105	1,000	7105
1ZAZHLC91	05/08/2025	10:27:01	Buy	IT.ico	MTA	TPRO	7.105	1,000	7105
1ZAZHLCET	05/08/2025	10:34:27	Buy	IT.ico	MTA	TPRO	7.11	43	305.73
1ZAZHLCF8	05/08/2025	10:34:47	Buy	IT.ico	MTA	TPRO	7.115	84	597.66
1ZAZHLCF9	05/08/2025	10:34:47	Buy	IT.ico	MTA	TPRO	7.115	916	6517.34
1ZAZHLCRY	05/08/2025	10:52:02	Buy	IT.ico	MTA	TPRO	7.125	798	5685.75
1ZAZHLCRZ	05/08/2025	10:52:02	Buy	IT.ico	MTA	TPRO	7.125	202	1439.25
1ZAZHLCS0	05/08/2025	10:52:04	Buy	IT.ico	MTA	TPRO	7.125	1,000	7125
1ZAZHLCS1	05/08/2025	10:52:04	Buy	IT.ico	MTA	TPRO	7.125	200	1425
1ZAZHLCS2	05/08/2025	10:52:04	Buy	IT.ico	MTA	TPRO	7.125	76	541.5
1ZAZHLCS3	05/08/2025	10:52:04	Buy	IT.ico	MTA	TPRO	7.125	70	498.75
1ZAZHLCS4	05/08/2025	10:52:04	Buy	IT.ico	MTA	TPRO	7.125	71	505.875
1ZAZHLCS5	05/08/2025	10:52:08	Buy	IT.ico	MTA	TPRO	7.12	131	932.72
1ZAZHLCS6	05/08/2025	10:52:08	Buy	IT.ico	MTA	TPRO	7.12	869	6187.28
1ZAZHLCVO	05/08/2025	10:56:08	Buy	IT.ico	MTA	TPRO	7.12	263	1872.56
1ZAZHLCZE	05/08/2025	10:59:51	Buy	IT.ico	MTA	TPRO	7.12	1,000	7120
1ZAZHLD4Z	05/08/2025	11:05:35	Buy	IT.ico	MTA	TPRO	7.105	110	781.55
1ZAZHLD6U	05/08/2025	11:06:52	Buy	IT.ico	MTA	TPRO	7.105	284	2017.82
1ZAZHLD87	05/08/2025	11:07:29	Buy	IT.ico	MTA	TPRO	7.11	122	867.42









1ZAZHLD88	05/08/2025	11:07:30	Buy	IT.ico	MTA	TPRO	7.11	244	1734.84
1ZAZHLD89	05/08/2025	11:07:30	Buy	IT.ico	MTA	TPRO	7.11	756	5375.16
1ZAZHLD9H	05/08/2025	11:11:00	Buy	IT.ico	MTA	TPRO	7.105	195	1385.475
1ZAZHLD9I	05/08/2025	11:11:00	Buy	IT.ico	MTA	TPRO	7.105	6	42.63
1ZAZHLDAG	05/08/2025	11:12:08	Buy	IT.ico	MTA	TPRO	7.105	1,000	7105
1ZAZHLDAX	05/08/2025	11:13:36	Buy	IT.ico	MTA	TPRO	7.1	837	5942.7
1ZAZHLDAY	05/08/2025	11:13:36	Buy	IT.ico	MTA	TPRO	7.1	163	1157.3
1ZAZHLDCJ	05/08/2025	11:15:23	Buy	IT.ico	MTA	TPRO	7.095	783	5555.385
1ZAZHLDMW	05/08/2025	11:28:40	Buy	IT.ico	MTA	TPRO	7.11	286	2033.46
1ZAZHLDR4	05/08/2025	11:35:04	Buy	IT.ico	MTA	TPRO	7.12	1,000	7120
1ZAZHLDRP	05/08/2025	11:36:24	Buy	IT.ico	MTA	TPRO	7.12	1,000	7120
1ZAZHLDUA	05/08/2025	11:39:45	Buy	IT.ico	MTA	TPRO	7.115	1,000	7115
1ZAZHLDXQ	05/08/2025	11:43:06	Buy	IT.ico	MTA	TPRO	7.11	730	5190.3
1ZAZHLDZT	05/08/2025	11:47:23	Buy	IT.ico	MTA	TPRO	7.1	1,000	7100
1ZAZHLE5I	05/08/2025	11:55:03	Buy	IT.ico	MTA	TPRO	7.07	12	84.84
1ZAZHLE5J	05/08/2025	11:55:03	Buy	IT.ico	MTA	TPRO	7.07	988	6985.16
1ZAZHLEB2	05/08/2025	12:02:42	Buy	IT.ico	MTA	TPRO	7.06	216	1524.96
1ZAZHLEBR	05/08/2025	12:03:23	Buy	IT.ico	MTA	TPRO	7.06	512	3614.72
1ZAZHLEBS	05/08/2025	12:03:23	Buy	IT.ico	MTA	TPRO	7.06	488	3445.28
1ZAZHLEH4	05/08/2025	12:07:56	Buy	IT.ico	MTA	TPRO	7.045	870	6129.15
1ZAZHLEUN	05/08/2025	12:25:41	Buy	IT.ico	MTA	TPRO	7.06	1,000	7060
1ZAZHLEYE	05/08/2025	12:33:15	Buy	IT.ico	MTA	TPRO	7.04	12	84.48
1ZAZHLEYF	05/08/2025	12:33:15	Buy	IT.ico	MTA	TPRO	7.04	988	6955.52
1ZAZHLF0K	05/08/2025	12:34:53	Buy	IT.ico	MTA	TPRO	7.04	163	1147.52
1ZAZHLF8V	05/08/2025	12:44:26	Buy	IT.ico	MTA	TPRO	7.045	840	5917.8
1ZAZHLF8W	05/08/2025	12:44:26	Buy	IT.ico	MTA	TPRO	7.045	12	84.54
1ZAZHLF8X	05/08/2025	12:44:26	Buy	IT.ico	MTA	TPRO	7.045	43	302.935
1ZAZHLF8Y	05/08/2025	12:44:26	Buy	IT.ico	MTA	TPRO	7.045	105	739.725
1ZAZHLFDX	05/08/2025	12:53:46	-	IT.ico	MTA	TPRO	7.05	44	310.2
1ZAZHLFED	05/08/2025	12:54:30	Buy	IT.ico	MTA	TPRO	7.05	741	5224.05
1ZAZHLFHK	05/08/2025	12:59:22	Buy	IT.ico	MTA	TPRO	7.055	899	6342.445
1ZAZHLFHL	05/08/2025	12:59:22	Buy	IT.ico	MTA	TPRO	7.055	101	712.555
1ZAZHLFJE	05/08/2025	13:03:41	Buy	IT.ico	MTA	TPRO	7.045	1,000	7045
1ZAZHLFNT	05/08/2025	13:11:22	Buy	IT.ico	MTA	TPRO	7.04	380	2675.2
1ZAZHLFNU	05/08/2025	13:11:22	Buy	IT.ico	MTA	TPRO	7.04	94	661.76
1ZAZHLFQY	05/08/2025	13:14:04	Buy	IT.ico	MTA	TPRO	7.03	785	5518.55
1ZAZHLG20	05/08/2025	13:32:32	Buy	IT.ico	MTA	TPRO	7.04	1,000	7040
1ZAZHLG2B	05/08/2025	13:32:32	Buy	IT.ico	MTA	TPRO	7.035	200	1407









12AZHLG2D 05/08/2025 13:32:32 Buy Tiloo MTA TPRO 7.04 65 457.6 12AZHLG2F 05/08/2025 13:32:32 Buy Tiloo MTA TPRO 7.04 459 3231.36 12AZHLG2F 05/08/2025 13:32:32 Buy Tiloo MTA TPRO 7.04 459 3231.36 12AZHLGCQ 05/08/2025 13:51:40 Buy Tiloo MTA TPRO 7.05 26 1593.3 12AZHLGCR 05/08/2025 13:51:40 Buy Tiloo MTA TPRO 7.05 7.05 26 1593.3 12AZHLGCT 05/08/2025 13:51:40 Buy Tiloo MTA TPRO 7.05 72 507.6 12AZHLGCT 05/08/2025 13:51:40 Buy Tiloo MTA TPRO 7.05 76 535.8 12AZHLGCU 05/08/2025 13:51:40 Buy Tiloo MTA TPRO 7.05 77 542.85 12AZHLGCU 05/08/2025 13:51:40 Buy Tiloo MTA TPRO 7.05 77 542.85 12AZHLGCU 05/08/2025 13:51:40 Buy Tiloo MTA TPRO 7.05 77 542.85 12AZHLGEV 05/08/2025 13:56:02 Buy Tiloo MTA TPRO 7.05 77 542.85 12AZHLGEW 05/08/2025 13:56:02 Buy Tiloo MTA TPRO 7.05 570 4021.35 12AZHLGEW 05/08/2025 14:06:02 Buy Tiloo MTA TPRO 7.055 570 4021.35 12AZHLGMY 05/08/2025 14:06:03 Buy Tiloo MTA TPRO 7.045 1.000 7045 12AZHLGY 05/08/2025 14:19:30 Buy Tiloo MTA TPRO 7.045 1.000 7046 12AZHLGY 05/08/2025 14:19:30 Buy Tiloo MTA TPRO 7.04 1.000 7040 12AZHLHAO 05/08/2025 14:28:33 Buy Tiloo MTA TPRO 7.04 344 2421.76 12AZHLHAO 05/08/2025 14:28:33 Buy Tiloo MTA TPRO 7.04 344 2421.76 12AZHLHAO 05/08/2025 14:49:30 Buy Tiloo MTA TPRO 7.04 344 2421.76 12AZHLHAO 05/08/2025 14:49:33 Buy Tiloo MTA TPRO 7.04 344 2421.76 12AZHLHAO 05/08/2025 14:49:45 Buy Tiloo MTA TPRO 7.04 349 345.205 12AZHLHAO 05/08/2025 14:49:45 Buy Tiloo MTA TPRO 7.04 349 345.205 12AZHLHAO 05/08/2025 14:52:31 Buy Tiloo MTA TPRO 7.04 349 345.205 12AZHLIBO 05/08/2025 15:04:56	1ZAZHLG2C	05/08/2025	13:32:32	Buy	IT.ico	MTA	TPRO	7.035	146	1027.11
12AZHLG2E	1ZAZHLG2D	05/08/2025	13:32:32	Buy	IT.ico	MTA	TPRO	7.04	65	457.6
1ZAZHLGSF				-						
12AZHLGCQ 05/08/2025 13:51:40 Buy IT.ico MTA TPRO 7.05 211 1487.55 12AZHLGCR 05/08/2025 13:51:40 Buy IT.ico MTA TPRO 7.05 226 1593.3 12AZHLGCS 05/08/2025 13:51:40 Buy IT.ico MTA TPRO 7.05 72 507.6 12AZHLGCT 05/08/2025 13:51:40 Buy IT.ico MTA TPRO 7.05 76 538.8 12AZHLGCU 05/08/2025 13:51:40 Buy IT.ico MTA TPRO 7.05 76 538.8 12AZHLGCU 05/08/2025 13:51:40 Buy IT.ico MTA TPRO 7.05 76 538.8 12AZHLGEV 05/08/2025 13:51:40 Buy IT.ico MTA TPRO 7.05 77 542.85 12AZHLGEV 05/08/2025 13:56:02 Buy IT.ico MTA TPRO 7.05 570 4021.35 12AZHLGEW 05/08/2025 13:56:02 Buy IT.ico MTA TPRO 7.055 430 3033.65 12AZHLGHW 05/08/2025 14:08:03 Buy IT.ico MTA TPRO 7.045 1,000 7045 12AZHLGHW 05/08/2025 14:19:07 Buy IT.ico MTA TPRO 7.045 1,000 7045 12AZHLGW 05/08/2025 14:19:07 Buy IT.ico MTA TPRO 7.045 1,000 7045 12AZHLGW 05/08/2025 14:19:07 Buy IT.ico MTA TPRO 7.045 1,000 7045 12AZHLGW 05/08/2025 14:19:07 Buy IT.ico MTA TPRO 7.045 1,000 7045 12AZHLGYG 05/08/2025 14:19:30 Buy IT.ico MTA TPRO 7.035 935 6577.725 12AZHLHA0 05/08/2025 14:28:53 Buy IT.ico MTA TPRO 7.04 344 2421.76 12AZHLHU 05/08/2025 14:48:53 Buy IT.ico MTA TPRO 7.04 656 4618.24 12AZHLHU 05/08/2025 14:48:45 Buy IT.ico MTA TPRO 7.04 956 4618.24 12AZHLHU 05/08/2025 14:48:45 Buy IT.ico MTA TPRO 7.04 96 345.205 12AZHLIBB 05/08/2025 15:04:56 Buy IT.ico MTA TPRO 7.03 365 3697.55 12AZHLIBB 05/08/2025 15:04:56 Buy IT.ico MTA TPRO 7.03 362 322 325.60 12AZHLIBB 05/08/2025 15:04:56 Buy IT.ico MTA TPRO 7.03 362 322 225.66 12AZHLIBB 05/08/2025 15:04:56 Buy IT.ico MTA TPRO 7.03 362 325.34 12AZHLI				,						
12AZHLGCR 05/08/2025 13:51:40 Buy IT.ico MTA TPRO 7.05 226 1593.3 12AZHLGCS 05/08/2025 13:51:40 Buy IT.ico MTA TPRO 7.05 72 507.6 12AZHLGCT 05/08/2025 13:51:40 Buy IT.ico MTA TPRO 7.05 76 535.8 12AZHLGCY 05/08/2025 13:51:40 Buy IT.ico MTA TPRO 7.05 77 542.85 12AZHLGCY 05/08/2025 13:51:40 Buy IT.ico MTA TPRO 7.05 77 542.85 12AZHLGCY 05/08/2025 13:551:40 Buy IT.ico MTA TPRO 7.05 169 1191.45 12AZHLGEW 05/08/2025 13:56:02 Buy IT.ico MTA TPRO 7.05 430 3033.65 12AZHLGEW 05/08/2025 13:56:02 Buy IT.ico MTA TPRO 7.05 430 3033.65 12AZHLGEW 05/08/2025 14:06:03 Buy IT.ico MTA TPRO 7.045 1,000 7045 12AZHLGMY 05/08/2025 14:06:03 Buy IT.ico MTA TPRO 7.045 1,000 7045 12AZHLGW9 05/08/2025 14:19:07 Buy IT.ico MTA TPRO 7.045 1,000 7045 12AZHLGWF 05/08/2025 14:19:30 Buy IT.ico MTA TPRO 7.035 935 6577.725 12AZHLHAD 05/08/2025 14:19:30 Buy IT.ico MTA TPRO 7.035 935 6577.725 12AZHLHAD 05/08/2025 14:28:53 Buy IT.ico MTA TPRO 7.04 344 2421.76 12AZHLHAD 05/08/2025 14:28:53 Buy IT.ico MTA TPRO 7.04 656 4618.24 12AZHLHAD 05/08/2025 14:48:21 Buy IT.ico MTA TPRO 7.04 656 4618.24 12AZHLHAD 05/08/2025 14:48:21 Buy IT.ico MTA TPRO 7.04 656 4618.24 12AZHLHAD 05/08/2025 14:48:23 Buy IT.ico MTA TPRO 7.04 656 4618.24 12AZHLHAD 05/08/2025 14:52:31 Buy IT.ico MTA TPRO 7.04 656 345.25 12AZHLHAD 05/08/2025 14:52:31 Buy IT.ico MTA TPRO 7.04 657 6699.795 12AZHLHAD 05/08/2025 14:52:31 Buy IT.ico MTA TPRO 7.03 462 3247.86 12AZHLIBS 05/08/2025 15:04:56 Buy IT.ico MTA TPRO 7.03 362 2263.66 12AZHLIBS 05/08/2025 15:04:56 Buy IT.ico MTA TPRO 7.03 362 2263.66 12AZHLIBS 05/08/2025 15:04:56 Buy IT.ico										
12AZHLGCS 05/08/2025 13:51:40 Buy IT.leo MTA TPRO 7.05 72 507.6 12AZHLGCT 05/08/2025 13:51:40 Buy IT.leo MTA TPRO 7.05 76 535.8 12AZHLGCU 05/08/2025 13:51:40 Buy IT.leo MTA TPRO 7.05 77 542.85 12AZHLGCV 05/08/2025 13:51:40 Buy IT.leo MTA TPRO 7.05 77 542.85 12AZHLGCV 05/08/2025 13:56:02 Buy IT.leo MTA TPRO 7.05 570 4021.35 12AZHLGEW 05/08/2025 13:56:02 Buy IT.leo MTA TPRO 7.055 430 303.65 12AZHLGEW 05/08/2025 14:06:03 Buy IT.leo MTA TPRO 7.045 1,000 7045 12AZHLGWY 05/08/2025 14:06:03 Buy IT.leo MTA TPRO 7.045 1,000 7045 12AZHLGWY 05/08/2025 14:19:30 Buy IT.leo MTA TPRO 7.045 1,000 7040 12AZHLGYF 05/08/2025 14:19:30 Buy IT.leo MTA TPRO 7.045 1,000 7040 12AZHLGYF 05/08/2025 14:19:30 Buy IT.leo MTA TPRO 7.035 935 6577.725 12AZHLAO 05/08/2025 14:19:30 Buy IT.leo MTA TPRO 7.035 65 457.275 12AZHLAO 05/08/2025 14:28:53 Buy IT.leo MTA TPRO 7.04 344 2421.76 12AZHLHAO 05/08/2025 14:28:53 Buy IT.leo MTA TPRO 7.04 656 4618.24 12AZHLHAO 05/08/2025 14:49:45 Buy IT.leo MTA TPRO 7.04 656 4618.24 12AZHLHAO 05/08/2025 14:49:45 Buy IT.leo MTA TPRO 7.04 05/08/2025 15:04:56 Buy IT.leo MTA TPRO 7.03 05/08/2025 15:04:56 Buy	·			,						
12AZHLGCT 05/08/2025 13:51:40 Buy IT.ico MTA TPRO 7.05 76 535.8 12AZHLGCU 05/08/2025 13:51:40 Buy IT.ico MTA TPRO 7.05 77 542.85 12AZHLGCV 05/08/2025 13:51:40 Buy IT.ico MTA TPRO 7.05 77 542.85 12AZHLGEV 05/08/2025 13:56:02 Buy IT.ico MTA TPRO 7.05 570 4021.35 12AZHLGEW 05/08/2025 13:56:02 Buy IT.ico MTA TPRO 7.055 570 4021.35 12AZHLGEW 05/08/2025 14:06:02 Buy IT.ico MTA TPRO 7.055 430 3033.65 12AZHLGEW 05/08/2025 14:06:02 Buy IT.ico MTA TPRO 7.045 1.000 7045 12AZHLGWY 05/08/2025 14:06:03 Buy IT.ico MTA TPRO 7.045 1.000 7045 12AZHLGWY 05/08/2025 14:19:07 Buy IT.ico MTA TPRO 7.045 1.000 7040 12AZHLGYF 05/08/2025 14:19:30 Buy IT.ico MTA TPRO 7.035 935 6577.725 12AZHLHAO 05/08/2025 14:19:30 Buy IT.ico MTA TPRO 7.035 65 457.275 12AZHLHAO 05/08/2025 14:28:53 Buy IT.ico MTA TPRO 7.04 344 2421.76 12AZHLHAO 05/08/2025 14:28:53 Buy IT.ico MTA TPRO 7.04 666 4618.24 12AZHLHAO 05/08/2025 14:44:21 Buy IT.ico MTA TPRO 7.04 666 4618.24 12AZHLHAO 05/08/2025 14:49:45 Buy IT.ico MTA TPRO 7.04 666 4618.24 12AZHLHUB 05/08/2025 14:49:45 Buy IT.ico MTA TPRO 7.04 666 4619.24 12AZHLHUB 05/08/2025 14:49:45 Buy IT.ico MTA TPRO 7.04 691 6099.795 12AZHLHBO 05/08/2025 15:04:56 Buy IT.ico MTA TPRO 7.04 699 6099.795 12AZHLIBS 05/08/2025 15:04:56 Buy IT.ico MTA TPRO 7.03 145 1019.35 12AZHLIBS 05/08/2025 15:04:56 Buy IT.ico MTA TPRO 7.03 362 2263.66 12AZHLIBS 05/08/2025 15:04:56 Buy IT.ico MTA TPRO 7.03 362 2263.66 12AZHLIBS 05/08/2025 15:04:56 Buy IT.ico MTA TPRO 7.03 367 2265.24 12AZHLIBS 05/08/2025 15:04:56 Buy IT.ico MTA TPRO 7.03 367 2269.71				-						
Tazaphico				,						
12AZHLGCV 05/08/2025 13:51:40 Buy IT.lico MTA TPRO 7.05 169 1191.45 12AZHLGEV 05/08/2025 13:56:02 Buy IT.lico MTA TPRO 7.055 570 4021.35 12AZHLGEW 05/08/2025 14:06:02 Buy IT.lico MTA TPRO 7.055 430 3033.65 12AZHLGMT 05/08/2025 14:06:02 Buy IT.lico MTA TPRO 7.045 1,000 7045 12AZHLGWY 05/08/2025 14:06:03 Buy IT.lico MTA TPRO 7.045 1,000 7045 12AZHLGWY 05/08/2025 14:19:07 Buy IT.lico MTA TPRO 7.045 1,000 7040 12AZHLGYF 05/08/2025 14:19:30 Buy IT.lico MTA TPRO 7.035 935 6577.725 12AZHLHAO 05/08/2025 14:19:30 Buy IT.lico MTA TPRO 7.035 935 6577.725 12AZHLHAO 05/08/2025 14:28:53 Buy IT.lico MTA TPRO 7.04 344 2421.76 12AZHLHA1 05/08/2025 14:28:53 Buy IT.lico MTA TPRO 7.04 344 2421.76 12AZHLHA2 05/08/2025 14:47:07 Buy IT.lico MTA TPRO 7.04 656 4618.24 12AZHLHA3 05/08/2025 14:49:45 Buy IT.lico MTA TPRO 7.06 1,000 7050 12AZHLHUB 05/08/2025 14:52:31 Buy IT.lico MTA TPRO 7.05 1,000 7050 12AZHLHUB 05/08/2025 14:52:31 Buy IT.lico MTA TPRO 7.04 49 345.205 12AZHLHUB 05/08/2025 15:04:56 Buy IT.lico MTA TPRO 7.04 49 345.205 12AZHLI55 05/08/2025 15:04:56 Buy IT.lico MTA TPRO 7.03 462 3247.86 12AZHLI56 05/08/2025 15:04:56 Buy IT.lico MTA TPRO 7.03 308 2165.24 12AZHLI56 05/08/2025 15:04:56 Buy IT.lico MTA TPRO 7.03 308 2165.24 12AZHLIG 05/08/2025 15:04:56 Buy IT.lico MTA TPRO 7.03 308 2165.24 12AZHLIEK 05/08/2025 15:10:14 Buy IT.lico MTA TPRO 7.03 308 2165.24 12AZHLIEK 05/08/2025 15:10:14 Buy IT.lico MTA TPRO 7.03 357 2509.71 12AZHLIEK 05/08/2025 15:10:16 Buy IT.lico MTA TPRO 7.04 200 1408 12AZHLIEK 05/08/2025 15:18:30 Buy IT.lico MTA TPRO 7										
Tazahlgev 05/08/2025				,						
Tazahligew 05/08/2025										
Tazahlgmt 05/08/2025 14:06:02 Buy IT.ico MTA TPRO 7.045 1,000 7045 12azhlgmy 05/08/2025 14:06:03 Buy IT.ico MTA TPRO 7.045 1,000 7045 12azhlgmy 05/08/2025 14:19:07 Buy IT.ico MTA TPRO 7.04 1,000 7040 12azhlgyf 05/08/2025 14:19:30 Buy IT.ico MTA TPRO 7.035 935 6577.725 12azhlgyg 05/08/2025 14:19:30 Buy IT.ico MTA TPRO 7.035 65 457.275 12azhlha0 05/08/2025 14:28:53 Buy IT.ico MTA TPRO 7.04 344 2421.76 12azhlha1 05/08/2025 14:28:53 Buy IT.ico MTA TPRO 7.04 656 4618.24 12azhlha1 05/08/2025 14:48:21 Buy IT.ico MTA TPRO 7.04 656 4618.24 12azhlha2 05/08/2025 14:49:45 Buy IT.ico MTA TPRO 7.06 1,000 7070 12azhlha0 05/08/2025 14:49:45 Buy IT.ico MTA TPRO 7.05 1,000 7050 12azhlha0 05/08/2025 14:52:31 Buy IT.ico MTA TPRO 7.045 951 6699.795 12azhlha0 05/08/2025 14:52:31 Buy IT.ico MTA TPRO 7.045 951 6699.795 12azhlha0 05/08/2025 15:04:56 Buy IT.ico MTA TPRO 7.03 145 1019.35 12azhli6 05/08/2025 15:04:56 Buy IT.ico MTA TPRO 7.03 462 3247.86 12azhli6 05/08/2025 15:04:56 Buy IT.ico MTA TPRO 7.03 308 2165.24 12azhli6 05/08/2025 15:04:56 Buy IT.ico MTA TPRO 7.03 308 2165.24 12azhli6 05/08/2025 15:04:56 Buy IT.ico MTA TPRO 7.03 308 2165.24 12azhli6 05/08/2025 15:04:56 Buy IT.ico MTA TPRO 7.03 357 2509.71 12azhli6 05/08/2025 15:04:56 Buy IT.ico MTA TPRO 7.03 357 2509.71 12azhli6 05/08/2025 15:18:30 Buy IT.ico MTA TPRO 7.03 357 2509.71 12azhli6 05/08/2025 15:18:30 Buy IT.ico MTA TPRO 7.03 357 2509.71 12azhli6 05/08/2025 15:18:30 Buy IT.ico MTA TPRO 7.04 200 1408 12azhli6 05/08/2025 15:25:13 Buy IT.ico MTA TPRO 7.04 200 1408 12azhli6 05/08/2025 15:25:13 Buy IT.ico MTA				,						
Tazatlomy										
Tazahlow 05/08/2025 14:19:07 Buy IT.ico MTA TPRO 7.04 1,000 7040 Tazahloyf 05/08/2025 14:19:30 Buy IT.ico MTA TPRO 7.035 935 6577.725 Tazahloyf 05/08/2025 14:19:30 Buy IT.ico MTA TPRO 7.035 65 457.275 Tazahlha0 05/08/2025 14:28:53 Buy IT.ico MTA TPRO 7.04 344 2421.76 Tazahlha1 05/08/2025 14:28:53 Buy IT.ico MTA TPRO 7.04 656 4618.24 Tazahlha2 05/08/2025 14:44:21 Buy IT.ico MTA TPRO 7.07 1,000 7070 Tazahlha0 05/08/2025 14:47:07 Buy IT.ico MTA TPRO 7.06 1,000 7060 Tazahlha0 05/08/2025 14:49:45 Buy IT.ico MTA TPRO 7.05 1,000 7050 Tazahlha0 05/08/2025 14:52:31 Buy IT.ico MTA TPRO 7.045 951 6699.795 Tazahlha0 05/08/2025 14:52:31 Buy IT.ico MTA TPRO 7.045 49 345.205 Tazahli5 05/08/2025 15:04:56 Buy IT.ico MTA TPRO 7.03 145 1019.35 Tazahli5 05/08/2025 15:04:56 Buy IT.ico MTA TPRO 7.03 462 3247.86 Tazahli5 05/08/2025 15:04:56 Buy IT.ico MTA TPRO 7.03 308 2165.24 Tazahli5 05/08/2025 15:04:56 Buy IT.ico MTA TPRO 7.03 308 2165.24 Tazahli5 05/08/2025 15:04:56 Buy IT.ico MTA TPRO 7.03 322 2263.66 Tazahli6 05/08/2025 15:10:14 Buy IT.ico MTA TPRO 7.03 322 2263.66 Tazahli6 05/08/2025 15:18:30 Buy IT.ico MTA TPRO 7.03 357 2509.71 Tazahlie 05/08/2025 15:18:30 Buy IT.ico MTA TPRO 7.03 357 2509.71 Tazahli6 05/08/2025 15:18:30 Buy IT.ico MTA TPRO 7.03 357 2509.71 Tazahli6 05/08/2025 15:25:13 Buy IT.ico MTA TPRO 7.03 357 2509.71 Tazahli6 05/08/2025 15:25:13 Buy IT.ico MTA TPRO 7.04 200 1408 Tazahli6 05/08/2025 15:25:14 Buy IT.ico MTA TPRO 7.04 200 1408 Tazahli6 05/08/2025 15:30:26 Buy IT.ico MTA TPRO 7.04 200 1408 Tazahli6 05/08/20				_					1	
Tazahlgyf				Buy					,	
Tazahlang			14:19:07	,						
1ZAZHLHA0 05/08/2025 14:28:53 Buy IT.ico MTA TPRO 7.04 344 2421.76 1ZAZHLHA1 05/08/2025 14:28:53 Buy IT.ico MTA TPRO 7.04 656 4618.24 1ZAZHLHAZ 05/08/2025 14:44:21 Buy IT.ico MTA TPRO 7.07 1,000 7070 1ZAZHLHQU 05/08/2025 14:47:07 Buy IT.ico MTA TPRO 7.06 1,000 7060 1ZAZHLHUB 05/08/2025 14:49:45 Buy IT.ico MTA TPRO 7.05 1,000 7050 1ZAZHLHUB 05/08/2025 14:52:31 Buy IT.ico MTA TPRO 7.045 951 6699.795 1ZAZHLHU9 05/08/2025 15:04:56 Buy IT.ico MTA TPRO 7.03 145 1019.35 1ZAZHLI55 05/08/2025 15:04:56 Buy IT.ico MTA TPRO 7.03 85 597.55	1ZAZHLGYF	05/08/2025	14:19:30	Buy	IT.ico	MTA	TPRO	7.035	935	6577.725
TZAZHLHA1 05/08/2025 14:28:53 Buy IT.ico MTA TPRO 7.04 656 4618.24 TZAZHLHNZ 05/08/2025 14:44:21 Buy IT.ico MTA TPRO 7.07 1,000 7070 TZAZHLHQU 05/08/2025 14:47:07 Buy IT.ico MTA TPRO 7.06 1,000 7060 TZAZHLHS0 05/08/2025 14:49:45 Buy IT.ico MTA TPRO 7.045 951 6699.795 TZAZHLHU8 05/08/2025 14:52:31 Buy IT.ico MTA TPRO 7.045 49 345.205 TZAZHLIB5 05/08/2025 15:04:56 Buy IT.ico MTA TPRO 7.03 145 1019.35 TZAZHLI56 05/08/2025 15:04:56 Buy IT.ico MTA TPRO 7.03 462 3247.86 TZAZHLI58 05/08/2025 15:04:56 Buy IT.ico MTA TPRO 7.03 308 2165.24 </th <th>1ZAZHLGYG</th> <th>05/08/2025</th> <th>14:19:30</th> <th>Buy</th> <th>IT.ico</th> <th>MTA</th> <th>TPRO</th> <th>7.035</th> <th>65</th> <th>457.275</th>	1ZAZHLGYG	05/08/2025	14:19:30	Buy	IT.ico	MTA	TPRO	7.035	65	457.275
IZAZHLHNZ 05/08/2025 14:44:21 Buy IT.ico MTA TPRO 7.07 1,000 7070 IZAZHLHQU 05/08/2025 14:47:07 Buy IT.ico MTA TPRO 7.06 1,000 7060 IZAZHLHS0 05/08/2025 14:49:45 Buy IT.ico MTA TPRO 7.045 951 6699.795 IZAZHLHU8 05/08/2025 14:52:31 Buy IT.ico MTA TPRO 7.045 49 345:205 IZAZHLHD9 05/08/2025 15:04:56 Buy IT.ico MTA TPRO 7.045 49 345:205 IZAZHLI55 05/08/2025 15:04:56 Buy IT.ico MTA TPRO 7.03 145 1019:35 IZAZHLI56 05/08/2025 15:04:56 Buy IT.ico MTA TPRO 7.03 462 3247:86 IZAZHLI58 05/08/2025 15:04:56 Buy IT.ico MTA TPRO 7.03 308 2165:24 </th <th>1ZAZHLHA0</th> <th>05/08/2025</th> <th>14:28:53</th> <th>Buy</th> <th>IT.ico</th> <th>MTA</th> <th>TPRO</th> <th>7.04</th> <th>344</th> <th>2421.76</th>	1ZAZHLHA0	05/08/2025	14:28:53	Buy	IT.ico	MTA	TPRO	7.04	344	2421.76
1ZAZHLHQU 05/08/2025 14:47:07 Buy IT.ico MTA TPRO 7.06 1,000 7060 1ZAZHLHS0 05/08/2025 14:49:45 Buy IT.ico MTA TPRO 7.05 1,000 7050 1ZAZHLHU8 05/08/2025 14:52:31 Buy IT.ico MTA TPRO 7.045 951 6699.795 1ZAZHLHU9 05/08/2025 14:52:31 Buy IT.ico MTA TPRO 7.045 49 345.205 1ZAZHLI55 05/08/2025 15:04:56 Buy IT.ico MTA TPRO 7.03 145 1019.35 1ZAZHLI56 05/08/2025 15:04:56 Buy IT.ico MTA TPRO 7.03 462 3247.86 1ZAZHLI58 05/08/2025 15:04:56 Buy IT.ico MTA TPRO 7.03 308 2165.24 1ZAZHLI58 05/08/2025 15:07:45 Buy IT.ico MTA TPRO 7.03 322 2263.66 </th <th>1ZAZHLHA1</th> <th>05/08/2025</th> <th>14:28:53</th> <th>Buy</th> <th>IT.ico</th> <th>MTA</th> <th>TPRO</th> <th>7.04</th> <th>656</th> <th>4618.24</th>	1ZAZHLHA1	05/08/2025	14:28:53	Buy	IT.ico	MTA	TPRO	7.04	656	4618.24
1ZAZHLHS0 05/08/2025 14:49:45 Buy IT.ico MTA TPRO 7.05 1,000 7050 1ZAZHLHU8 05/08/2025 14:52:31 Buy IT.ico MTA TPRO 7.045 951 6699.795 1ZAZHLHU9 05/08/2025 14:52:31 Buy IT.ico MTA TPRO 7.045 49 345.205 1ZAZHLI55 05/08/2025 15:04:56 Buy IT.ico MTA TPRO 7.03 145 1019.35 1ZAZHLI56 05/08/2025 15:04:56 Buy IT.ico MTA TPRO 7.03 462 3247.86 1ZAZHLI57 05/08/2025 15:04:56 Buy IT.ico MTA TPRO 7.03 462 3247.86 1ZAZHLI58 05/08/2025 15:04:56 Buy IT.ico MTA TPRO 7.03 308 2165.24 1ZAZHLI68 05/08/2025 15:07:45 Buy IT.ico MTA TPRO 7.03 322 2263.66 <	1ZAZHLHNZ	05/08/2025	14:44:21	Buy	IT.ico	MTA	TPRO	7.07	1,000	7070
1ZAZHLHU8 05/08/2025 14:52:31 Buy IT.ico MTA TPRO 7.045 951 6699.795 1ZAZHLHU9 05/08/2025 14:52:31 Buy IT.ico MTA TPRO 7.045 49 345.205 1ZAZHLI55 05/08/2025 15:04:56 Buy IT.ico MTA TPRO 7.03 145 1019.35 1ZAZHLI56 05/08/2025 15:04:56 Buy IT.ico MTA TPRO 7.03 85 597.55 1ZAZHLI57 05/08/2025 15:04:56 Buy IT.ico MTA TPRO 7.03 308 2165.24 1ZAZHLI58 05/08/2025 15:04:56 Buy IT.ico MTA TPRO 7.03 308 2165.24 1ZAZHLI58 05/08/2025 15:07:45 Buy IT.ico MTA TPRO 7.03 322 2263.66 1ZAZHLI96 05/08/2025 15:18:30 Buy IT.ico MTA TPRO 7.03 158 1110.74 </th <th>1ZAZHLHQU</th> <th>05/08/2025</th> <th>14:47:07</th> <th>Buy</th> <th>IT.ico</th> <th>MTA</th> <th>TPRO</th> <th>7.06</th> <th>1,000</th> <th>7060</th>	1ZAZHLHQU	05/08/2025	14:47:07	Buy	IT.ico	MTA	TPRO	7.06	1,000	7060
1ZAZHLHU9 05/08/2025 14:52:31 Buy IT.ico MTA TPRO 7.045 49 345.205 1ZAZHLI55 05/08/2025 15:04:56 Buy IT.ico MTA TPRO 7.03 145 1019.35 1ZAZHLI56 05/08/2025 15:04:56 Buy IT.ico MTA TPRO 7.03 85 597.55 1ZAZHLI57 05/08/2025 15:04:56 Buy IT.ico MTA TPRO 7.03 462 3247.86 1ZAZHLI58 05/08/2025 15:04:56 Buy IT.ico MTA TPRO 7.03 308 2165.24 1ZAZHLI58 05/08/2025 15:04:56 Buy IT.ico MTA TPRO 7.03 308 2165.24 1ZAZHLI78 05/08/2025 15:10:14 Buy IT.ico MTA TPRO 7.03 322 2263.66 1ZAZHLIEK 05/08/2025 15:18:30 Buy IT.ico MTA TPRO 7.03 158 1110.74 <th>1ZAZHLHS0</th> <th>05/08/2025</th> <th>14:49:45</th> <th>Buy</th> <th>IT.ico</th> <th>MTA</th> <th>TPRO</th> <th>7.05</th> <th>1,000</th> <th>7050</th>	1ZAZHLHS0	05/08/2025	14:49:45	Buy	IT.ico	MTA	TPRO	7.05	1,000	7050
1ZAZHLI55 05/08/2025 15:04:56 Buy IT.ico MTA TPRO 7.03 145 1019.35 1ZAZHLI56 05/08/2025 15:04:56 Buy IT.ico MTA TPRO 7.03 85 597.55 1ZAZHLI57 05/08/2025 15:04:56 Buy IT.ico MTA TPRO 7.03 462 3247.86 1ZAZHLI58 05/08/2025 15:04:56 Buy IT.ico MTA TPRO 7.03 308 2165.24 1ZAZHLI78 05/08/2025 15:07:45 Buy IT.ico MTA TPRO 7.03 322 2263.66 1ZAZHLI96 05/08/2025 15:10:14 Buy IT.ico MTA TPRO 7.03 322 2263.66 1ZAZHLIEK 05/08/2025 15:18:30 Buy IT.ico MTA TPRO 7.03 158 1110.74 1ZAZHLIEM 05/08/2025 15:18:30 Buy IT.ico MTA TPRO 7.03 357 2509.71 <th>1ZAZHLHU8</th> <th>05/08/2025</th> <th>14:52:31</th> <th>Buy</th> <th>IT.ico</th> <th>MTA</th> <th>TPRO</th> <th>7.045</th> <th>951</th> <th>6699.795</th>	1ZAZHLHU8	05/08/2025	14:52:31	Buy	IT.ico	MTA	TPRO	7.045	951	6699.795
1ZAZHLI56 05/08/2025 15:04:56 Buy IT.ico MTA TPRO 7.03 85 597.55 1ZAZHLI57 05/08/2025 15:04:56 Buy IT.ico MTA TPRO 7.03 462 3247.86 1ZAZHLI58 05/08/2025 15:04:56 Buy IT.ico MTA TPRO 7.03 308 2165.24 1ZAZHLI7S 05/08/2025 15:07:45 Buy IT.ico MTA TPRO 7.03 322 2263.66 1ZAZHLI96 05/08/2025 15:10:14 Buy IT.ico MTA TPRO 7.03 158 1110.74 1ZAZHLIEK 05/08/2025 15:18:30 Buy IT.ico MTA TPRO 7.03 357 2509.71 1ZAZHLIEM 05/08/2025 15:18:30 Buy IT.ico MTA TPRO 7.035 765 5381.775 1ZAZHLIKJ 05/08/2025 15:25:13 Buy IT.ico MTA TPRO 7.04 200 1408	1ZAZHLHU9	05/08/2025	14:52:31	Buy	IT.ico	MTA	TPRO	7.045	49	345.205
1ZAZHLI57 05/08/2025 15:04:56 Buy IT.ico MTA TPRO 7.03 462 3247.86 1ZAZHLI58 05/08/2025 15:04:56 Buy IT.ico MTA TPRO 7.03 308 2165.24 1ZAZHLI7S 05/08/2025 15:07:45 Buy IT.ico MTA TPRO 7.03 322 2263.66 1ZAZHLI96 05/08/2025 15:10:14 Buy IT.ico MTA TPRO 7.025 1,000 7025 1ZAZHLIEK 05/08/2025 15:18:30 Buy IT.ico MTA TPRO 7.03 357 2509.71 1ZAZHLIEM 05/08/2025 15:18:30 Buy IT.ico MTA TPRO 7.03 357 2509.71 1ZAZHLIKJ 05/08/2025 15:25:13 Buy IT.ico MTA TPRO 7.035 765 5381.775 1ZAZHLIKK 05/08/2025 15:25:14 Buy IT.ico MTA TPRO 7.04 200 1408 <th>1ZAZHLI55</th> <th>05/08/2025</th> <th>15:04:56</th> <th>Buy</th> <th>IT.ico</th> <th>MTA</th> <th>TPRO</th> <th>7.03</th> <th>145</th> <th>1019.35</th>	1ZAZHLI55	05/08/2025	15:04:56	Buy	IT.ico	MTA	TPRO	7.03	145	1019.35
1ZAZHLI58 05/08/2025 15:04:56 Buy IT.ico MTA TPRO 7.03 308 2165.24 1ZAZHLI7S 05/08/2025 15:07:45 Buy IT.ico MTA TPRO 7.03 322 2263.66 1ZAZHLI96 05/08/2025 15:10:14 Buy IT.ico MTA TPRO 7.025 1,000 7025 1ZAZHLIEK 05/08/2025 15:18:30 Buy IT.ico MTA TPRO 7.03 158 1110.74 1ZAZHLIEM 05/08/2025 15:18:30 Buy IT.ico MTA TPRO 7.03 357 2509.71 1ZAZHLIKJ 05/08/2025 15:25:13 Buy IT.ico MTA TPRO 7.025 778 5465.45 1ZAZHLIKK 05/08/2025 15:25:14 Buy IT.ico MTA TPRO 7.04 200 1408 1ZAZHLIOI 05/08/2025 15:30:26 Buy IT.ico MTA TPRO 7.04 200 1408	1ZAZHLI56	05/08/2025	15:04:56	Buy	IT.ico	MTA	TPRO	7.03	85	597.55
1ZAZHLI7S 05/08/2025 15:07:45 Buy IT.ico MTA TPRO 7.03 322 2263.66 1ZAZHLI96 05/08/2025 15:10:14 Buy IT.ico MTA TPRO 7.025 1,000 7025 1ZAZHLIEK 05/08/2025 15:18:30 Buy IT.ico MTA TPRO 7.03 158 1110.74 1ZAZHLIEL 05/08/2025 15:18:30 Buy IT.ico MTA TPRO 7.03 357 2509.71 1ZAZHLIEM 05/08/2025 15:18:30 Buy IT.ico MTA TPRO 7.025 778 5465.45 1ZAZHLIKJ 05/08/2025 15:25:13 Buy IT.ico MTA TPRO 7.035 765 5381.775 1ZAZHLIKK 05/08/2025 15:25:14 Buy IT.ico MTA TPRO 7.04 200 1408 1ZAZHLIOI 05/08/2025 15:30:26 Buy IT.ico MTA TPRO 7.03 1,000 7030 <th>1ZAZHLI57</th> <th>05/08/2025</th> <th>15:04:56</th> <th>Buy</th> <th>IT.ico</th> <th>MTA</th> <th>TPRO</th> <th>7.03</th> <th>462</th> <th>3247.86</th>	1ZAZHLI57	05/08/2025	15:04:56	Buy	IT.ico	MTA	TPRO	7.03	462	3247.86
1ZAZHLI96 05/08/2025 15:10:14 Buy IT.ico MTA TPRO 7.025 1,000 7025 1ZAZHLIEK 05/08/2025 15:18:30 Buy IT.ico MTA TPRO 7.03 158 1110.74 1ZAZHLIEL 05/08/2025 15:18:30 Buy IT.ico MTA TPRO 7.03 357 2509.71 1ZAZHLIEM 05/08/2025 15:18:30 Buy IT.ico MTA TPRO 7.025 778 5465.45 1ZAZHLIKJ 05/08/2025 15:25:13 Buy IT.ico MTA TPRO 7.035 765 5381.775 1ZAZHLIKK 05/08/2025 15:25:14 Buy IT.ico MTA TPRO 7.04 200 1408 1ZAZHLIOI 05/08/2025 15:30:26 Buy IT.ico MTA TPRO 7.03 1,000 7030	1ZAZHLI58	05/08/2025	15:04:56	Buy	IT.ico	MTA	TPRO	7.03	308	2165.24
1ZAZHLIEK 05/08/2025 15:18:30 Buy IT.ico MTA TPRO 7.03 158 1110.74 1ZAZHLIEL 05/08/2025 15:18:30 Buy IT.ico MTA TPRO 7.03 357 2509.71 1ZAZHLIEM 05/08/2025 15:18:30 Buy IT.ico MTA TPRO 7.025 778 5465.45 1ZAZHLIKJ 05/08/2025 15:25:13 Buy IT.ico MTA TPRO 7.035 765 5381.775 1ZAZHLIKK 05/08/2025 15:25:14 Buy IT.ico MTA TPRO 7.04 200 1408 1ZAZHLIOI 05/08/2025 15:30:26 Buy IT.ico MTA TPRO 7.03 1,000 7030	1ZAZHLI7S	05/08/2025	15:07:45	Buy	IT.ico	MTA	TPRO	7.03	322	2263.66
1ZAZHLIEL 05/08/2025 15:18:30 Buy IT.ico MTA TPRO 7.03 357 2509.71 1ZAZHLIEM 05/08/2025 15:18:30 Buy IT.ico MTA TPRO 7.025 778 5465.45 1ZAZHLIKJ 05/08/2025 15:25:13 Buy IT.ico MTA TPRO 7.035 765 5381.775 1ZAZHLIKK 05/08/2025 15:25:14 Buy IT.ico MTA TPRO 7.04 200 1408 1ZAZHLIOI 05/08/2025 15:30:26 Buy IT.ico MTA TPRO 7.03 1,000 7030	1ZAZHLI96	05/08/2025	15:10:14	Buy	IT.ico	MTA	TPRO	7.025	1,000	7025
1ZAZHLIEM 05/08/2025 15:18:30 Buy IT.ico MTA TPRO 7.025 778 5465.45 1ZAZHLIKJ 05/08/2025 15:25:13 Buy IT.ico MTA TPRO 7.035 765 5381.775 1ZAZHLIKK 05/08/2025 15:25:14 Buy IT.ico MTA TPRO 7.04 200 1408 1ZAZHLIOI 05/08/2025 15:30:26 Buy IT.ico MTA TPRO 7.03 1,000 7030	1ZAZHLIEK	05/08/2025	15:18:30	Buy	IT.ico	MTA	TPRO	7.03	158	1110.74
1ZAZHLIKJ 05/08/2025 15:25:13 Buy IT.ico MTA TPRO 7.035 765 5381.775 1ZAZHLIKK 05/08/2025 15:25:14 Buy IT.ico MTA TPRO 7.04 200 1408 1ZAZHLIO5 05/08/2025 15:30:09 Buy IT.ico MTA TPRO 7.04 200 1408 1ZAZHLIOI 05/08/2025 15:30:26 Buy IT.ico MTA TPRO 7.03 1,000 7030	1ZAZHLIEL	05/08/2025	15:18:30	Buy	IT.ico	MTA	TPRO	7.03	357	2509.71
1ZAZHLIKK 05/08/2025 15:25:14 Buy IT.ico MTA TPRO 7.04 200 1408 1ZAZHLIO5 05/08/2025 15:30:09 Buy IT.ico MTA TPRO 7.04 200 1408 1ZAZHLIOI 05/08/2025 15:30:26 Buy IT.ico MTA TPRO 7.03 1,000 7030	1ZAZHLIEM	05/08/2025	15:18:30	Buy	IT.ico	MTA	TPRO	7.025	778	5465.45
1ZAZHLIO5 05/08/2025 15:30:09 Buy IT.ico MTA TPRO 7.04 200 1408 1ZAZHLIOI 05/08/2025 15:30:26 Buy IT.ico MTA TPRO 7.03 1,000 7030	1ZAZHLIKJ	05/08/2025	15:25:13	Buy	IT.ico	MTA	TPRO	7.035	765	5381.775
1ZAZHLIOI 05/08/2025 15:30:26 Buy IT.ico MTA TPRO 7.03 1,000 7030	1ZAZHLIKK	05/08/2025	15:25:14	Buy	IT.ico	MTA	TPRO	7.04	200	1408
	1ZAZHLIO5	05/08/2025	15:30:09	Buy	IT.ico	MTA	TPRO	7.04	200	1408
17A7HLIO I 05/08/2025 15:30:26 Buy IT ico MTA TPPO 7.03 200 1406	1ZAZHLIOI	05/08/2025	15:30:26	Buy	IT.ico	MTA	TPRO	7.03	1,000	7030
127211200 05/00/2020 15.50.20 Buy 11.60 WITA 1FINO 7.05 200 1400	1ZAZHLIOJ	05/08/2025	15:30:26	Buy	IT.ico	MTA	TPRO	7.03	200	1406









1ZAZHLIOK	05/08/2025	15:30:26	Buy	IT.ico	MTA	TPRO	7.03	297	2087.91
1ZAZHLIOL	05/08/2025	15:30:26	Buy	IT.ico	MTA	TPRO	7.03	413	2903.39
1ZAZHLIUV	05/08/2025	15:33:29	Buy	IT.ico	MTA	TPRO	6.985	1,000	6985
1ZAZHLJ58	05/08/2025	15:43:22	Buy	IT.ico	MTA	TPRO	6.97	1,000	6970
1ZAZHLJ5D	05/08/2025	15:43:23	Buy	IT.ico	MTA	TPRO	6.965	1,000	6965
1ZAZHLJKG	05/08/2025	15:54:01	Buy	IT.ico	MTA	TPRO	7.005	101	707.505
1ZAZHLJKH	05/08/2025	15:54:01	Buy	IT.ico	MTA	TPRO	7.005	1	7.005
1ZAZHLJKI	05/08/2025	15:54:01	Buy	IT.ico	MTA	TPRO	7.005	101	707.505
1ZAZHLJKJ	05/08/2025	15:54:01	Buy	IT.ico	MTA	TPRO	7.005	100	700.5
1ZAZHLJMT	05/08/2025	15:55:57	Buy	IT.ico	MTA	TPRO	7.015	1,000	7015
1ZAZHLJN0	05/08/2025	15:56:06	Buy	IT.ico	MTA	TPRO	7.01	69	483.69
1ZAZHLJN1	05/08/2025	15:56:06	Buy	IT.ico	MTA	TPRO	7.01	65	455.65
1ZAZHLJN2	05/08/2025	15:56:06	Buy	IT.ico	MTA	TPRO	7.01	78	546.78
1ZAZHLJN3	05/08/2025	15:56:06	Buy	IT.ico	MTA	TPRO	7.01	788	5523.88
1ZAZHLJPR	05/08/2025	15:59:05	Buy	IT.ico	MTA	TPRO	7	1,000	7000
1ZAZHLK05	05/08/2025	16:05:02	Buy	IT.ico	MTA	TPRO	6.985	286	1997.71
1ZAZHLK06	05/08/2025	16:05:02	Buy	IT.ico	MTA	TPRO	6.985	714	4987.29
1ZAZHLK54	05/08/2025	16:09:05	Buy	IT.ico	MTA	TPRO	6.975	1,000	6975
1ZAZHLK92	05/08/2025	16:12:15	Buy	IT.ico	MTA	TPRO	6.98	392	2736.16
1ZAZHLK93	05/08/2025	16:12:15	Buy	IT.ico	MTA	TPRO	6.98	608	4243.84
1ZAZHLKGJ	05/08/2025	16:17:01	Buy	IT.ico	MTA	TPRO	6.965	1,000	6965
1ZAZHLKLU	05/08/2025	16:20:28	Buy	IT.ico	MTA	TPRO	6.965	115	800.975
1ZAZHLKLV	05/08/2025	16:20:28	Buy	IT.ico	MTA	TPRO	6.965	200	1393
1ZAZHLKLW	05/08/2025	16:20:28	Buy	IT.ico	MTA	TPRO	6.965	685	4771.025
1ZAZHLKNU	05/08/2025	16:23:22	Buy	IT.ico	MTA	TPRO	6.96	1,000	6960
1ZAZHLKXM	05/08/2025	16:27:22	Buy	IT.ico	MTA	TPRO	6.95	1,000	6950
1ZAZHLL43	05/08/2025	16:33:49	Buy	IT.ico	MTA	TPRO	6.945	760	5278.2
1ZAZHLL54	05/08/2025	16:35:05	Buy	IT.ico	MTA	TPRO	6.945	1,000	6945
1ZAZHLL9V	05/08/2025	16:39:04	Buy	IT.ico	MTA	TPRO	6.94	1,000	6940
1ZAZHLLAS	05/08/2025	16:40:07	Buy	IT.ico	MTA	TPRO	6.935	158	1095.73
1ZAZHLLDO	05/08/2025	16:42:37	Buy	IT.ico	MTA	TPRO	6.93	624	4324.32
1ZAZHLLFH	05/08/2025	16:44:01	Buy	IT.ico	MTA	TPRO	6.93	208	1441.44
1ZAZHLLFI	05/08/2025	16:44:01	Buy	IT.ico	MTA	TPRO	6.93	792	5488.56
1ZAZHLLP3	05/08/2025	16:48:02	Buy	IT.ico	MTA	TPRO	6.92	1,000	6920
1ZAZHLM52	05/08/2025	16:54:33	Buy	IT.ico	MTA	TPRO	6.9	971	6699.9
1ZAZHLM53	05/08/2025	16:54:33	Buy	IT.ico	MTA	TPRO	6.9	29	200.1
1ZAZHLMAN	05/08/2025	16:59:46	Buy	IT.ico	MTA	TPRO	6.915	69	477.135
1ZAZHLMAO	05/08/2025	16:59:46	Buy	IT.ico	MTA	TPRO	6.915	783	5414.445









1ZAZHLMEZ	05/08/2025	17:03:37	Buy	IT.ico	MTA	TPRO	6.925	519	3594.075
1ZAZHLMF0	05/08/2025	17:03:37	Buy	IT.ico	MTA	TPRO	6.925	424	2936.2
			-						
1ZAZHLMH7	05/08/2025	17:05:36	Buy	IT.ico	MTA	TPRO	6.925	207	1433.475
1ZAZHLMHY	05/08/2025	17:06:38	Buy	IT.ico	MTA	TPRO	6.93	387	2681.91
1ZAZHLMJU	05/08/2025	17:08:05	Buy	IT.ico	MTA	TPRO	6.94	1,000	6940
1ZAZHLMJX	05/08/2025	17:08:05	Buy	IT.ico	MTA	TPRO	6.94	811	5628.34
1ZAZHLMJY	05/08/2025	17:08:05	Buy	IT.ico	MTA	TPRO	6.94	189	1311.66
1ZAZHLMT1	05/08/2025	17:15:05	Buy	IT.ico	MTA	TPRO	6.935	793	5499.455
1ZAZHLMT8	05/08/2025	17:15:07	Buy	IT.ico	MTA	TPRO	6.935	327	2267.745
1ZAZHLN2A	05/08/2025	17:20:58	Buy	IT.ico	MTA	TPRO	6.94	804	5579.76
1ZAZHLN5M	05/08/2025	17:22:11	Buy	IT.ico	MTA	TPRO	6.945	66	458.37
1ZAZHLN5N	05/08/2025	17:22:11	Buy	IT.ico	MTA	TPRO	6.945	65	451.425
1ZAZHLN5O	05/08/2025	17:22:11	Buy	IT.ico	MTA	TPRO	6.945	79	548.655
1ZAZHLN6J	05/08/2025	17:22:58	Buy	IT.ico	MTA	TPRO	6.945	815	5660.175
1ZAZHLN6K	05/08/2025	17:22:58	Buy	IT.ico	MTA	TPRO	6.945	2	13.89
1ZAZHLN6L	05/08/2025	17:22:58	Buy	IT.ico	MTA	TPRO	6.945	183	1270.935
1ZAZHLNG5	05/08/2025	17:26:52	Buy	IT.ico	MTA	TPRO	6.96	76	528.96
1ZAZHLNG6	05/08/2025	17:26:52	Buy	IT.ico	MTA	TPRO	6.965	46	320.39
1ZAZHLNG7	05/08/2025	17:26:52	Buy	IT.ico	MTA	TPRO	6.965	76	529.34
1ZAZHLNG8	05/08/2025	17:26:52	Buy	IT.ico	MTA	TPRO	6.965	70	487.55
1ZAZHLNG9	05/08/2025	17:26:52	Buy	IT.ico	MTA	TPRO	6.965	266	1852.69
1ZAZHLNHB	05/08/2025	17:27:09	Buy	IT.ico	MTA	TPRO	6.95	861	5983.95
1ZAZHLVZE	06/08/2025	10:14:39	Buy	IT.ico	MTA	TPRO	6.995	220	1538.9
1ZAZHLVZF	06/08/2025	10:14:39	Buy	IT.ico	MTA	TPRO	6.995	110	769.45
1ZAZHLVZG	06/08/2025	10:14:39	Buy	IT.ico	MTA	TPRO	6.995	214	1496.93
1ZAZHLVZH	06/08/2025	10:14:39	Buy	IT.ico	MTA	TPRO	6.995	316	2210.42
1ZAZHLVZI	06/08/2025	10:14:39	Buy	IT.ico	MTA	TPRO	7	760	5320
1ZAZHLVZJ	06/08/2025	10:14:39	Buy	IT.ico	MTA	TPRO	7	833	5831
1ZAZHLVZK	06/08/2025	10:14:39	Buy	IT.ico	MTA	TPRO	7	2,600	18200
1ZAZHLVZL	06/08/2025	10:14:39	Buy	IT.ico	MTA	TPRO	7	75	525
1ZAZHLVZM	06/08/2025	10:14:39	Buy	IT.ico	MTA	TPRO	7	4,872	34104
1ZAZHLW01	06/08/2025	10:14:52	Buy	IT.ico	MTA	TPRO	7.005	357	2500.785
1ZAZHLW02	06/08/2025	10:14:52	Buy	IT.ico	MTA	TPRO	7.005	146	1022.73
1ZAZHLW03	06/08/2025	10:14:52	Buy	IT.ico	MTA	TPRO	7.005	207	1450.035
1ZAZHLW04	06/08/2025	10:14:52	Buy	IT.ico	MTA	TPRO	7.01	874	6126.74
1ZAZHLW05	06/08/2025	10:14:52	Buy	IT.ico	MTA	TPRO	7.015	730	5120.95
1ZAZHLW06	06/08/2025	10:14:52	Buy	IT.ico	MTA	TPRO	7.015	25,000	175375
1ZAZHLW07	06/08/2025	10:14:52	Buy	IT.ico	MTA	TPRO	7.015	938	6580.07









1ZAZHLW08	06/08/2025	10:14:52	Buy	IT.ico	MTA	TPRO	7.015	892	6257.38
1ZAZHLW0A	06/08/2025	10:14:52	Buy	IT.ico	MTA	TPRO	7.015	856	6004.84
1ZAZHLW4L	06/08/2025	10:16:23	Buy	IT.ico	MTA	TPRO	6.995	14	97.93
1ZAZHLW4N	06/08/2025	10:16:27	Buy	IT.ico	MTA	TPRO	6.99	1,000	6990
1ZAZHLWHJ	06/08/2025	10:26:33	Buy	IT.ico	MTA	TPRO	6.985	698	4875.53
1ZAZHLWMX	06/08/2025	10:30:12	Buy	IT.ico	MTA	TPRO	7	200	1400
1ZAZHLWMY	06/08/2025	10:30:12	Buy	IT.ico	MTA	TPRO	7	208	1456
1ZAZHLWPE	06/08/2025	10:32:27	Buy	IT.ico	MTA	TPRO	6.995	200	1399
1ZAZHLWPF	06/08/2025	10:32:27	Buy	IT.ico	MTA	TPRO	6.995	211	1475.945
1ZAZHLWPG	06/08/2025	10:32:27	Buy	IT.ico	MTA	TPRO	6.995	128	895.36
1ZAZHLWPH	06/08/2025	10:32:27	Buy	IT.ico	MTA	TPRO	6.995	110	769.45
1ZAZHLWPI	06/08/2025	10:32:27	Buy	IT.ico	MTA	TPRO	6.995	351	2455.245
1ZAZHLWVC	06/08/2025	10:36:46	Buy	IT.ico	MTA	TPRO	6.985	691	4826.635
1ZAZHLWVD	06/08/2025	10:36:46	Buy	IT.ico	MTA	TPRO	6.985	309	2158.365
1ZAZHLX67	06/08/2025	10:42:20	Buy	IT.ico	MTA	TPRO	6.98	183	1277.34
1ZAZHLX68	06/08/2025	10:42:20	Buy	IT.ico	MTA	TPRO	6.98	817	5702.66
1ZAZHLXCQ	06/08/2025	10:49:06	Buy	IT.ico	MTA	TPRO	6.98	1,000	6980
1ZAZHLXJG	06/08/2025	10:52:04	Buy	IT.ico	MTA	TPRO	6.975	755	5266.125
1ZAZHLXJH	06/08/2025	10:52:04	Buy	IT.ico	MTA	TPRO	6.975	245	1708.875
1ZAZHLY02	06/08/2025	11:06:30	Buy	IT.ico	MTA	TPRO	6.97	190	1324.3
1ZAZHLY03	06/08/2025	11:06:30	Buy	IT.ico	MTA	TPRO	6.97	810	5645.7
1ZAZHLY13	06/08/2025	11:07:01	Buy	IT.ico	MTA	TPRO	6.965	43	299.495
1ZAZHLY2K	06/08/2025	11:08:00	Buy	IT.ico	MTA	TPRO	6.97	382	2662.54
1ZAZHLY5Q	06/08/2025	11:11:40	Buy	IT.ico	MTA	TPRO	6.965	1,000	6965
1ZAZHLYD1	06/08/2025	11:17:38	Buy	IT.ico	MTA	TPRO	6.97	892	6217.24
1ZAZHLYH5	06/08/2025	11:22:19	Buy	IT.ico	MTA	TPRO	6.965	656	4569.04
1ZAZHLYRK	06/08/2025	11:30:51	Buy	IT.ico	MTA	TPRO	6.965	241	1678.565
1ZAZHLYRL	06/08/2025	11:30:51	Buy	IT.ico	MTA	TPRO	6.965	759	5286.435
1ZAZHLZH5	06/08/2025	11:46:14	Buy	IT.ico	MTA	TPRO	6.965	1,000	6965
1ZAZHM0BH	06/08/2025	11:57:25	Buy	IT.ico	MTA	TPRO	6.965	1,000	6965
1ZAZHM0BK	06/08/2025	11:57:25	Buy	IT.ico	MTA	TPRO	6.965	233	1622.845
1ZAZHM0BL	06/08/2025	11:57:25	Buy	IT.ico	MTA	TPRO	6.965	12	83.58
1ZAZHM0FP	06/08/2025	12:00:07	Buy	IT.ico	MTA	TPRO	6.96	596	4148.16
1ZAZHM0FQ	06/08/2025	12:00:07	Buy	IT.ico	MTA	TPRO	6.96	404	2811.84
1ZAZHM0HK	06/08/2025	12:01:48	Buy	IT.ico	MTA	TPRO	6.955	1,000	6955
1ZAZHM0X0	06/08/2025	12:12:29	Buy	IT.ico	MTA	TPRO	6.9	1,000	6900
1ZAZHM14M	06/08/2025	12:18:30	Buy	IT.ico	MTA	TPRO	6.905	17	117.385
1ZAZHM1IB	06/08/2025	12:26:43	Buy	IT.ico	MTA	TPRO	6.915	289	1998.435









1ZAZHM1IC	06/08/2025	12:26:43	Buy	IT.ico	MTA	TPRO	6.915	15	103.725
1ZAZHM1KF	06/08/2025	12:28:02	Buy	IT.ico	MTA	TPRO	6.92	269	1861.48
1ZAZHM1KG	06/08/2025	12:28:02	Buy	IT.ico	MTA	TPRO	6.92	32	221.44
1ZAZHM1KH	06/08/2025	12:28:02	Buy	IT.ico	MTA	TPRO	6.92	15	103.8
1ZAZHM1QH	06/08/2025	12:31:17	Buy	IT.ico	MTA	TPRO	6.92	218	1508.56
1ZAZHM1S9	06/08/2025	12:33:34	Buy	IT.ico	MTA	TPRO	6.92	138	954.96
1ZAZHM1VT	06/08/2025	12:35:02	Buy	IT.ico	MTA	TPRO	6.92	131	906.52
1ZAZHM1YJ	06/08/2025	12:35:50	Buy	IT.ico	MTA	TPRO	6.915	544	3761.76
1ZAZHM21B	06/08/2025	12:37:26	Buy	IT.ico	MTA	TPRO	6.915	195	1348.425
1ZAZHM21C	06/08/2025	12:37:26	Buy	IT.ico	MTA	TPRO	6.915	805	5566.575
1ZAZHM2HS	06/08/2025	12:46:18	Buy	IT.ico	MTA	TPRO	6.905	1,000	6905
1ZAZHM3ZX	06/08/2025	13:25:10	Buy	IT.ico	MTA	TPRO	6.91	896	6191.36
1ZAZHM3ZY	06/08/2025	13:25:10	Buy	IT.ico	MTA	TPRO	6.91	104	718.64
1ZAZHM43V	06/08/2025	13:27:17	Buy	IT.ico	MTA	TPRO	6.91	69	476.79
1ZAZHM4AY	06/08/2025	13:30:20	Buy	IT.ico	MTA	TPRO	6.92	310	2145.2
1ZAZHM4AZ	06/08/2025	13:30:20	Buy	IT.ico	MTA	TPRO	6.92	12	83.04
1ZAZHM4B0	06/08/2025	13:30:20	Buy	IT.ico	MTA	TPRO	6.92	33	228.36
1ZAZHM4B1	06/08/2025	13:30:20	Buy	IT.ico	MTA	TPRO	6.92	145	1003.4
1ZAZHM4B3	06/08/2025	13:30:21	Buy	IT.ico	MTA	TPRO	6.92	8	55.36
1ZAZHM4FK	06/08/2025	13:35:04	Buy	IT.ico	MTA	TPRO	6.925	120	831
1ZAZHM4FL	06/08/2025	13:35:04	Buy	IT.ico	MTA	TPRO	6.925	880	6094
1ZAZHM4IH	06/08/2025	13:37:11	Buy	IT.ico	MTA	TPRO	6.925	147	1017.975
1ZAZHM4II	06/08/2025	13:37:11	Buy	IT.ico	MTA	TPRO	6.925	70	484.75
1ZAZHM4IJ	06/08/2025	13:37:11	Buy	IT.ico	MTA	TPRO	6.925	356	2465.3
1ZAZHM4TL	06/08/2025	13:46:00	Buy	IT.ico	MTA	TPRO	6.925	161	1114.925
1ZAZHM4TM	06/08/2025	13:46:00	Buy	IT.ico	MTA	TPRO	6.925	11	76.175
1ZAZHM4UZ	06/08/2025	13:47:42	Buy	IT.ico	MTA	TPRO	6.925	92	637.1
1ZAZHM4V0	06/08/2025	13:47:42	Buy	IT.ico	MTA	TPRO	6.925	454	3143.95
1ZAZHM4V1	06/08/2025	13:47:42	Buy	IT.ico	MTA	TPRO	6.925	454	3143.95
1ZAZHM4YU	06/08/2025	13:51:43	Buy	IT.ico	MTA	TPRO	6.92	1,000	6920
1ZAZHM58I	06/08/2025	14:00:18	Buy	IT.ico	MTA	TPRO	6.905	1,000	6905
1ZAZHM5QF	06/08/2025	14:14:42	Buy	IT.ico	MTA	TPRO	6.9	1,000	6900
1ZAZHM5TH	06/08/2025	14:18:45	Buy	IT.ico	MTA	TPRO	6.895	1,000	6895
1ZAZHM69D	06/08/2025	14:27:01	Buy	IT.ico	MTA	TPRO	6.895	1,000	6895
1ZAZHM6PB	06/08/2025	14:41:00	Buy	IT.ico	MTA	TPRO	6.895	320	2206.4
1ZAZHM6PC	06/08/2025	14:41:00	Buy	IT.ico	MTA	TPRO	6.895	680	4688.6
1ZAZHM75P	06/08/2025	14:47:56	Buy	IT.ico	MTA	TPRO	6.895	1,000	6895
1ZAZHM7LW	06/08/2025	14:55:31	Buy	IT.ico	MTA	TPRO	6.905	139	959.795









1ZAZHM7LX	06/08/2025	14:55:31	Buy	IT.ico	MTA	TPRO	6.905	861	5945.205
1ZAZHM7XB	06/08/2025	14:58:05	Buy	IT.ico	MTA	TPRO	6.9	568	3919.2
1ZAZHM7XC	06/08/2025	14:58:05	Buy	IT.ico	MTA	TPRO	6.9	432	2980.8
1ZAZHM882	06/08/2025	15:04:01	Buy	IT.ico	MTA	TPRO	6.915	1,000	6915
1ZAZHM91F	06/08/2025	15:15:09	Buy	IT.ico	MTA	TPRO	6.925	800	5540
1ZAZHM91G	06/08/2025	15:15:09	Buy	IT.ico	MTA	TPRO	6.925	42	290.85
1ZAZHM937	06/08/2025	15:16:36	Buy	IT.ico	MTA	TPRO	6.925	1,000	6925
1ZAZHM9IU	06/08/2025	15:22:57	Buy	IT.ico	MTA	TPRO	6.915	1,000	6915
1ZAZHM9SR	06/08/2025	15:29:12	Buy	IT.ico	MTA	TPRO	6.905	1,000	6905
1ZAZHMA8R	06/08/2025	15:36:07	Buy	IT.ico	MTA	TPRO	6.88	123	846.24
1ZAZHMAB9	06/08/2025	15:37:10	Buy	IT.ico	MTA	TPRO	6.87	312	2143.44
1ZAZHMABA	06/08/2025	15:37:10	Buy	IT.ico	MTA	TPRO	6.87	6	41.22
1ZAZHMANA	06/08/2025	15:42:29	Buy	IT.ico	MTA	TPRO	6.86	230	1577.8
1ZAZHMARI	06/08/2025	15:43:47	Buy	IT.ico	MTA	TPRO	6.86	59	404.74
1ZAZHMAW7	06/08/2025	15:44:10	Buy	IT.ico	MTA	TPRO	6.875	15	103.125
1ZAZHMB39	06/08/2025	15:46:32	Buy	IT.ico	MTA	TPRO	6.89	10	68.9
1ZAZHMB53	06/08/2025	15:47:21	Buy	IT.ico	MTA	TPRO	6.89	128	881.92
1ZAZHMB54	06/08/2025	15:47:21	Buy	IT.ico	MTA	TPRO	6.89	15	103.35
1ZAZHMB71	06/08/2025	15:48:27	Buy	IT.ico	MTA	TPRO	6.885	200	1377
1ZAZHMB8X	06/08/2025	15:49:27	Buy	IT.ico	MTA	TPRO	6.885	1,000	6885
1ZAZHMB8Z	06/08/2025	15:49:27	Buy	IT.ico	MTA	TPRO	6.885	200	1377
1ZAZHMB90	06/08/2025	15:49:27	Buy	IT.ico	MTA	TPRO	6.885	455	3132.675
1ZAZHMB91	06/08/2025	15:49:27	Buy	IT.ico	MTA	TPRO	6.885	11	75.735
1ZAZHMB92	06/08/2025	15:49:27	Buy	IT.ico	MTA	TPRO	6.885	2	13.77
1ZAZHMB93	06/08/2025	15:49:27	Buy	IT.ico	MTA	TPRO	6.885	332	2285.82
1ZAZHMBNY	06/08/2025	15:55:10	Buy	IT.ico	MTA	TPRO	6.88	1,000	6880
1ZAZHMC5N	06/08/2025	16:02:20	Buy	IT.ico	MTA	TPRO	6.885	183	1259.955
1ZAZHMC5O	06/08/2025	16:02:20	Buy	IT.ico	MTA	TPRO	6.885	226	1556.01
1ZAZHMC5P	06/08/2025	16:02:20	Buy	IT.ico	MTA	TPRO	6.885	219	1507.815
1ZAZHMCHC	06/08/2025	16:06:09	Buy	IT.ico	MTA	TPRO	6.89	161	1109.29
1ZAZHMCHS	06/08/2025	16:06:18	Buy	IT.ico	MTA	TPRO	6.89	215	1481.35
1ZAZHMCHT	06/08/2025	16:06:18	Buy	IT.ico	MTA	TPRO	6.89	11	75.79
1ZAZHMCJH	06/08/2025	16:07:38	Buy	IT.ico	MTA	TPRO	6.9	220	1518
1ZAZHMCN9	06/08/2025	16:08:35	Buy	IT.ico	MTA	TPRO	6.9	1,000	6900
1ZAZHMCTM	06/08/2025	16:10:38	Buy	IT.ico	MTA	TPRO	6.895	1,000	6895
1ZAZHMD49	06/08/2025	16:13:59	Buy	IT.ico	MTA	TPRO	6.89	1,000	6890
1ZAZHMDL0	06/08/2025	16:21:14	Buy	IT.ico	MTA	TPRO	6.88	1,000	6880
1ZAZHMDPI	06/08/2025	16:23:51	Buy	IT.ico	MTA	TPRO	6.875	1,000	6875









1ZAZHME5U	06/08/2025	16:29:48	Buy	IT.ico	MTA	TPRO	6.865	800	5492
1ZAZHMEEH	06/08/2025	16:35:38	Buy	IT.ico	MTA	TPRO	6.88	23	158.24
1ZAZHMEEI	06/08/2025	16:35:38	Buy	IT.ico	MTA	TPRO	6.88	63	433.44
1ZAZHMEEJ	06/08/2025	16:35:38	Buy	IT.ico	MTA	TPRO	6.88	77	529.76
1ZAZHMEFR	06/08/2025	16:36:23	Buy	IT.ico	MTA	TPRO	6.88	16	110.08
1ZAZHMEFX	06/08/2025	16:36:37	Buy	IT.ico	MTA	TPRO	6.88	217	1492.96
1ZAZHMEGL	06/08/2025	16:37:26	Buy	IT.ico	MTA	TPRO	6.88	525	3612
1ZAZHMEGM	06/08/2025	16:37:26	Buy	IT.ico	MTA	TPRO	6.88	466	3206.08
1ZAZHMEGN	06/08/2025	16:37:26	Buy	IT.ico	MTA	TPRO	6.88	9	61.92
1ZAZHMEMC	06/08/2025	16:42:54	Buy	IT.ico	MTA	TPRO	6.88	1,000	6880
1ZAZHMEPJ	06/08/2025	16:45:11	Buy	IT.ico	MTA	TPRO	6.875	1,000	6875
1ZAZHMET1	06/08/2025	16:47:26	Buy	IT.ico	MTA	TPRO	6.86	202	1385.72
1ZAZHMET2	06/08/2025	16:47:26	Buy	IT.ico	MTA	TPRO	6.86	798	5474.28
1ZAZHMF5J	06/08/2025	16:51:59	Buy	IT.ico	MTA	TPRO	6.855	378	2591.19
1ZAZHMF5K	06/08/2025	16:51:59	Buy	IT.ico	MTA	TPRO	6.855	622	4263.81
1ZAZHMFHR	06/08/2025	17:00:04	Buy	IT.ico	MTA	TPRO	6.86	506	3471.16
1ZAZHMFLL	06/08/2025	17:01:49	Buy	IT.ico	MTA	TPRO	6.855	224	1535.52
1ZAZHMFLM	06/08/2025	17:01:49	Buy	IT.ico	MTA	TPRO	6.855	776	5319.48
1ZAZHMFYX	06/08/2025	17:10:44	Buy	IT.ico	MTA	TPRO	6.865	387	2656.755
1ZAZHMG22	06/08/2025	17:12:52	Buy	IT.ico	MTA	TPRO	6.865	1,000	6865
1ZAZHMG3A	06/08/2025	17:13:11	Buy	IT.ico	MTA	TPRO	6.87	13	89.31
1ZAZHMG3B	06/08/2025	17:13:11	Buy	IT.ico	MTA	TPRO	6.87	987	6780.69
1ZAZHMG3L	06/08/2025	17:13:15	Buy	IT.ico	MTA	TPRO	6.87	408	2802.96
1ZAZHMGBZ	06/08/2025	17:18:38	Buy	IT.ico	MTA	TPRO	6.89	728	5015.92
1ZAZHMGG7	06/08/2025	17:20:21	Buy	IT.ico	MTA	TPRO	6.895	274	1889.23
1ZAZHMGG8	06/08/2025	17:20:21	Buy	IT.ico	MTA	TPRO	6.895	81	558.495
1ZAZHMGIX	06/08/2025	17:21:12	Buy	IT.ico	MTA	TPRO	6.895	564	3888.78
1ZAZHMGLJ	06/08/2025	17:22:34	Buy	IT.ico	MTA	TPRO	6.89	509	3507.01
1ZAZHMGZN	06/08/2025	17:26:22	Buy	IT.ico	MTA	TPRO	6.89	1,000	6890
1ZAZHMH3E	06/08/2025	17:27:41	Buy	IT.ico	MTA	TPRO	6.895	563	3881.885
1ZAZHMH3F	06/08/2025	17:27:41	Buy	IT.ico	MTA	TPRO	6.895	437	3013.115
1ZAZHMH6M	06/08/2025	17:29:01	Buy	IT.ico	MTA	TPRO	6.895	5	34.475
1ZAZHMHBM	06/08/2025	17:29:51	Buy	IT.ico	MTA	TPRO	6.89	839	5780.71
1ZAZHMNM5	07/08/2025	10:06:50	Buy	IT.ico	MTA	TPRO	7	200	1400
1ZAZHMNM6	07/08/2025	10:06:50	Buy	IT.ico	MTA	TPRO	7	165	1155
1ZAZHMNM7	07/08/2025	10:06:50	Buy	IT.ico	MTA	TPRO	7	161	1127
1ZAZHMNM8	07/08/2025	10:06:50	Buy	IT.ico	MTA	TPRO	7.005	465	3257.325
1ZAZHMNM9	07/08/2025	10:06:50	Buy	IT.ico	MTA	TPRO	7.005	3,344	23424.72









1ZAZHMNMA	07/08/2025	10:06:50	Buy	IT.ico	MTA	TPRO	7.005	5,271	36923.36
1ZAZHMNMB	07/08/2025	10:06:50	Buy	IT.ico	MTA	TPRO	7.005	1,756	12300.78
1ZAZHMNMC	07/08/2025	10:06:50	Buy	IT.ico	MTA	TPRO	7.005	93	651.465
1ZAZHMNMD	07/08/2025	10:06:50	Buy	IT.ico	MTA	TPRO	7.005	3,545	24832.73
1ZAZHMR41	07/08/2025	11:22:06	Buy	IT.ico	MTA	TPRO	6.98	851	5939.98
1ZAZHMR42	07/08/2025	11:22:06	Buy	IT.ico	MTA	TPRO	6.98	125	872.5
1ZAZHMR43	07/08/2025	11:22:06	Buy	IT.ico	MTA	TPRO	6.98	126	879.48
1ZAZHMR44	07/08/2025	11:22:06	Buy	IT.ico	MTA	TPRO	6.98	5,766	40246.68
1ZAZHMR45	07/08/2025	11:22:06	Buy	IT.ico	MTA	TPRO	6.98	4,734	33043.32
1ZAZHMR47	07/08/2025	11:22:06	Buy	IT.ico	MTA	TPRO	6.98	421	2938.58
1ZAZHMR48	07/08/2025	11:22:06	Buy	IT.ico	MTA	TPRO	6.98	627	4376.46
1ZAZHMR49	07/08/2025	11:22:06	Buy	IT.ico	MTA	TPRO	6.98	87	607.26
1ZAZHMR4A	07/08/2025	11:22:06	Buy	IT.ico	MTA	TPRO	6.98	265	1849.7
1ZAZHMR4B	07/08/2025	11:22:07	Buy	IT.ico	MTA	TPRO	6.98	203	1416.94
1ZAZHMR5S	07/08/2025	11:23:30	Buy	IT.ico	MTA	TPRO	6.98	128	893.44
1ZAZHMRTI	07/08/2025	11:41:09	Buy	IT.ico	MTA	TPRO	6.98	112	781.76
1ZAZHMRTJ	07/08/2025	11:41:09	Buy	IT.ico	MTA	TPRO	6.98	1,174	8194.52
1ZAZHMRTK	07/08/2025	11:41:09	Buy	IT.ico	MTA	TPRO	6.98	381	2659.38
1ZAZHMXWK	07/08/2025	14:39:05	Buy	IT.ico	MTA	TPRO	6.54	200	1308
1ZAZHMXWL	07/08/2025	14:39:05	Buy	IT.ico	MTA	TPRO	6.54	861	5630.94
1ZAZHMXWM	07/08/2025	14:39:05	Buy	IT.ico	MTA	TPRO	6.55	2,290	14999.5
1ZAZHMXWN	07/08/2025	14:39:05	Buy	IT.ico	MTA	TPRO	6.555	286	1874.73
1ZAZHMXWO	07/08/2025	14:39:05	Buy	IT.ico	MTA	TPRO	6.555	875	5735.625
1ZAZHMXWP	07/08/2025	14:39:05	Buy	IT.ico	MTA	TPRO	6.56	2,000	13120
1ZAZHMXWQ	07/08/2025	14:39:05	Buy	IT.ico	MTA	TPRO	6.565	519	3407.235
1ZAZHMXWR	07/08/2025	14:39:05	Buy	IT.ico	MTA	TPRO	6.565	2,000	13130
1ZAZHMXWS	07/08/2025	14:39:05	Buy	IT.ico	MTA	TPRO	6.57	200	1314
1ZAZHMXWT	07/08/2025	14:39:05	Buy	IT.ico	MTA	TPRO	6.57	286	1879.02
1ZAZHMXWU	07/08/2025	14:39:05	Buy	IT.ico	MTA	TPRO	6.575	463	3044.225
1ZAZHMXWV	07/08/2025	14:39:05	Buy	IT.ico	MTA	TPRO	6.58	2,000	13160
1ZAZHMXWW	07/08/2025	14:39:05	Buy	IT.ico	MTA	TPRO	6.58	286	1881.88
1ZAZHMXWX	07/08/2025	14:39:05	Buy	IT.ico	MTA	TPRO	6.585	427	2811.795
1ZAZHMXWY	07/08/2025	14:39:05	Buy	IT.ico	MTA	TPRO	6.59	200	1318
1ZAZHMXWZ	07/08/2025	14:39:05	Buy	IT.ico	MTA	TPRO	6.59	286	1884.74
1ZAZHMXX0	07/08/2025	14:39:05	Buy	IT.ico	MTA	TPRO	6.59	2,000	13180
1ZAZHMXX1	07/08/2025	14:39:05	Buy	IT.ico	MTA	TPRO	6.6	455	3003
1ZAZHMXX2	07/08/2025	14:39:05	Buy	IT.ico	MTA	TPRO	6.6	2,000	13200
1ZAZHMXX3	07/08/2025	14:39:05	Buy	IT.ico	MTA	TPRO	6.605	200	1321









1ZAZHMXX4	07/08/2025	14:39:05	Buy	IT.ico	MTA	TPRO	6.605	286	1889.03
1ZAZHMXX5	07/08/2025	14:39:05	Buy	IT.ico	MTA	TPRO	6.61	1,680	11104.8
1ZAZHMXX6	07/08/2025	14:39:05	Buy	IT.ico	MTA	TPRO	6.61	468	3093.48
1ZAZHMXX7	07/08/2025	14:39:05	Buy	IT.ico	MTA	TPRO	6.615	2,000	13230
1ZAZHMXX8	07/08/2025	14:39:05	Buy	IT.ico	MTA	TPRO	6.615	286	1891.89
1ZAZHMXX9	07/08/2025	14:39:05	Buy	IT.ico	MTA	TPRO	6.615	397	2626.155
1ZAZHMXXA	07/08/2025	14:39:05	Buy	IT.ico	MTA	TPRO	6.63	454	3010.02
1ZAZHMXXB	07/08/2025	14:39:05	Buy	IT.ico	MTA	TPRO	6.635	200	1327
1ZAZHMXXC	07/08/2025	14:39:05	Buy	IT.ico	MTA	TPRO	6.635	807	5354.445
1ZAZHMXXD	07/08/2025	14:39:05	Buy	IT.ico	MTA	TPRO	6.635	2,000	13270
1ZAZHMXXE	07/08/2025	14:39:05	Buy	IT.ico	MTA	TPRO	6.645	500	3322.5
1ZAZHMXXF	07/08/2025	14:39:05	Buy	IT.ico	MTA	TPRO	6.65	2,000	13300
1ZAZHMXXG	07/08/2025	14:39:05	Buy	IT.ico	MTA	TPRO	6.655	1,650	10980.75
1ZAZHMXXH	07/08/2025	14:39:05	Buy	IT.ico	MTA	TPRO	6.7	10,000	67000
1ZAZHMXXI	07/08/2025	14:39:05	Buy	IT.ico	MTA	TPRO	6.7	9,438	63234.6
1ZAZHMXZ2	07/08/2025	14:39:29	Buy	IT.ico	MTA	TPRO	6.58	539	3546.62
1ZAZHMXZ3	07/08/2025	14:39:29	Buy	IT.ico	MTA	TPRO	6.585	200	1317
1ZAZHMXZ4	07/08/2025	14:39:29	Buy	IT.ico	MTA	TPRO	6.59	1,044	6879.96
1ZAZHMXZ5	07/08/2025	14:39:29	Buy	IT.ico	MTA	TPRO	6.59	1,153	7598.27
1ZAZHMXZ6	07/08/2025	14:39:29	Buy	IT.ico	MTA	TPRO	6.59	2,164	14260.76
1ZAZHMXZ7	07/08/2025	14:39:29	Buy	IT.ico	MTA	TPRO	6.595	582	3838.29
1ZAZHMXZ8	07/08/2025	14:39:29	Buy	IT.ico	MTA	TPRO	6.595	887	5849.765
1ZAZHMXZ9	07/08/2025	14:39:29	Buy	IT.ico	MTA	TPRO	6.6	286	1887.6
1ZAZHMXZA	07/08/2025	14:39:29	Buy	IT.ico	MTA	TPRO	6.605	539	3560.095
1ZAZHMXZB	07/08/2025	14:39:29	Buy	IT.ico	MTA	TPRO	6.605	500	3302.5
1ZAZHMXZC	07/08/2025	14:39:29	Buy	IT.ico	MTA	TPRO	6.61	200	1322
1ZAZHMXZD	07/08/2025	14:39:29	Buy	IT.ico	MTA	TPRO	6.61	286	1890.46
1ZAZHMXZE	07/08/2025	14:39:29	Buy	IT.ico	MTA	TPRO	6.625	589	3902.125
1ZAZHMXZF	07/08/2025	14:39:29	Buy	IT.ico	MTA	TPRO	6.63	818	5423.34
1ZAZHMXZG	07/08/2025	14:39:29	Buy	IT.ico	MTA	TPRO	6.63	396	2625.48
1ZAZHMXZH	07/08/2025	14:39:29	Buy	IT.ico	MTA	TPRO	6.635	544	3609.44
1ZAZHMXZI	07/08/2025	14:39:29	Buy	IT.ico	MTA	TPRO	6.64	200	1328
1ZAZHMXZJ	07/08/2025	14:39:29	Buy	IT.ico	MTA	TPRO	6.64	783	5199.12
1ZAZHMXZK	07/08/2025	14:39:29	Buy	IT.ico	MTA	TPRO	6.64	468	3107.52
1ZAZHMXZL	07/08/2025	14:39:29	Buy	IT.ico	MTA	TPRO	6.64	441	2928.24
1ZAZHMXZM	07/08/2025	14:39:29	Buy	IT.ico	MTA	TPRO	6.645	525	3488.625
1ZAZHMXZN	07/08/2025	14:39:29	Buy	IT.ico	MTA	TPRO	6.65	286	1901.9
1ZAZHMXZO	07/08/2025	14:39:29	Buy	IT.ico	MTA	TPRO	6.655	501	3334.155









1ZAZHMXZP	07/08/2025	14:39:29	Buy	IT.ico	MTA	TPRO	6.66	200	1332
1ZAZHMXZQ	07/08/2025	14:39:29	Buy	IT.ico	MTA	TPRO	6.66	286	1904.76
1ZAZHMXZR	07/08/2025	14:39:29	Buy	IT.ico	MTA	TPRO	6.66	486	3236.76
1ZAZHMXZS	07/08/2025	14:39:29	Buy	IT.ico	MTA	TPRO	6.66	487	3243.42
1ZAZHMXZT	07/08/2025	14:39:29	Buy	IT.ico	MTA	TPRO	6.665	1,614	10757.31
1ZAZHMXZU	07/08/2025	14:39:29	Buy	IT.ico	MTA	TPRO	6.68	200	1336
			-						
1ZAZHMXZV	07/08/2025	14:39:29	Buy	IT.ico	MTA	TPRO	6.68	1,668	11142.24
1ZAZHMXZW	07/08/2025	14:39:29	Buy	IT.ico	MTA	TPRO	6.69	1,128	7546.32
1ZAZHMY0C	07/08/2025	14:40:01	Buy	IT.ico	MTA	TPRO	6.595	664	4379.08
1ZAZHMY0D	07/08/2025	14:40:01	Buy	IT.ico	MTA	TPRO	6.6	200	1320
1ZAZHMY0E	07/08/2025	14:40:01	Buy	IT.ico	MTA	TPRO	6.6	810	5346
1ZAZHMY0F	07/08/2025	14:40:01	Buy	IT.ico	MTA	TPRO	6.605	1,154	7622.17
1ZAZHMY0G	07/08/2025	14:40:01	Buy	IT.ico	MTA	TPRO	6.61	2,269	14998.09
1ZAZHMY0H	07/08/2025	14:40:01	Buy	IT.ico	MTA	TPRO	6.61	1,926	12730.86
1ZAZHMY0I	07/08/2025	14:40:01	Buy	IT.ico	MTA	TPRO	6.615	286	1891.89
1ZAZHMY0J	07/08/2025	14:40:01	Buy	IT.ico	MTA	TPRO	6.62	286	1893.32
1ZAZHMY0K	07/08/2025	14:40:01	Buy	IT.ico	MTA	TPRO	6.625	200	1325
1ZAZHMY0L	07/08/2025	14:40:01	Buy	IT.ico	MTA	TPRO	6.625	1,575	10434.38
1ZAZHMY0M	07/08/2025	14:40:01	Buy	IT.ico	MTA	TPRO	6.63	286	1896.18
1ZAZHMY0N	07/08/2025	14:40:01	Buy	IT.ico	MTA	TPRO	6.635	455	3018.925
1ZAZHMY0O	07/08/2025	14:40:01	Buy	IT.ico	MTA	TPRO	6.635	1,525	10118.38
1ZAZHMY0P	07/08/2025	14:40:01	Buy	IT.ico	MTA	TPRO	6.64	492	3266.88
1ZAZHMY0Q	07/08/2025	14:40:01	Buy	IT.ico	MTA	TPRO	6.64	1,487	9873.68
1ZAZHMY0R	07/08/2025	14:40:01	Buy	IT.ico	MTA	TPRO	6.645	286	1900.47
1ZAZHMY0S	07/08/2025	14:40:01	Buy	IT.ico	MTA	TPRO	6.65	286	1901.9
1ZAZHMY0T	07/08/2025	14:40:01	Buy	IT.ico	MTA	TPRO	6.65	1,479	9835.35
1ZAZHMY0U	07/08/2025	14:40:01	Buy	IT.ico	MTA	TPRO	6.65	450	2992.5
1ZAZHMY0V	07/08/2025	14:40:01	Buy	IT.ico	MTA	TPRO	6.655	200	1331
1ZAZHMY0W	07/08/2025	14:40:01	Buy	IT.ico	MTA	TPRO	6.655	286	1903.33
1ZAZHMY0X	07/08/2025	14:40:01	Buy	IT.ico	MTA	TPRO	6.655	1,473	9802.815
1ZAZHMY0Y	07/08/2025	14:40:01	Buy	IT.ico	MTA	TPRO	6.66	395	2630.7
1ZAZHMY0Z	07/08/2025	14:40:01	Buy	IT.ico	MTA	TPRO	6.665	453	3019.245
1ZAZHMY10	07/08/2025	14:40:01	Buy	IT.ico	MTA	TPRO	6.68	200	1336
1ZAZHMY11	07/08/2025	14:40:01	Buy	IT.ico	MTA	TPRO	6.685	550	3676.75
1ZAZHMY12	07/08/2025	14:40:01	Buy	IT.ico	MTA	TPRO	6.69	327	2187.63
1ZAZHN29H	07/08/2025	15:55:45	Buy	IT.ico	MTA	TPRO	6.135	11	67.485
1ZAZHN29I	07/08/2025	15:55:45	Buy	IT.ico	MTA	TPRO	6.135	242	1484.67
1ZAZHN29J	07/08/2025	15:55:45	Buy	IT.ico	MTA	TPRO	6.145	253	1554.685
			,						







1ZAZHN29K	07/08/2025	15:55:45	Buy	IT.ico	MTA	TPRO	6.145	1,085	6667.325
1ZAZHN29L	07/08/2025	15:55:45	Buy	IT.ico	MTA	TPRO	6.145	1,291	7933.195
1ZAZHN29M	07/08/2025	15:55:45	Buy	IT.ico	MTA	TPRO	6.15	783	4815.45
1ZAZHN29N	07/08/2025	15:55:45	Buy	IT.ico	MTA	TPRO	6.15	890	5473.5
1ZAZHN29O	07/08/2025	15:55:45	Buy	IT.ico	MTA	TPRO	6.155	466	2868.23
1ZAZHN29P	07/08/2025	15:55:45	Buy	IT.ico	MTA	TPRO	6.155	2,000	12310
1ZAZHN29Q	07/08/2025	15:55:45	Buy	IT.ico	MTA	TPRO	6.155	1,892	11645.26
1ZAZHN29R	07/08/2025	15:55:45	Buy	IT.ico	MTA	TPRO	6.155	1,087	6690.485
1ZAZHN4OT	07/08/2025	16:35:02	Buy	IT.ico	MTA	TPRO	6.105	200	1221
1ZAZHN4OU	07/08/2025	16:35:02	Buy	IT.ico	MTA	TPRO	6.105	135	824.175
1ZAZHN4OV	07/08/2025	16:35:02	Buy	IT.ico	MTA	TPRO	6.11	256	1564.16
1ZAZHN4OW	07/08/2025	16:35:02	Buy	IT.ico	MTA	TPRO	6.11	138	843.18
1ZAZHN4OX	07/08/2025	16:35:02	Buy	IT.ico	MTA	TPRO	6.11	798	4875.78
1ZAZHN4OY	07/08/2025	16:35:02	Buy	IT.ico	MTA	TPRO	6.11	348	2126.28
1ZAZHN4OZ	07/08/2025	16:35:02	Buy	IT.ico	MTA	TPRO	6.115	200	1223
1ZAZHN4P0	07/08/2025	16:35:02	Buy	IT.ico	MTA	TPRO	6.115	780	4769.7
1ZAZHN4P1	07/08/2025	16:35:02	Buy	IT.ico	MTA	TPRO	6.115	727	4445.605
1ZAZHN4P2	07/08/2025	16:35:02	Buy	IT.ico	MTA	TPRO	6.115	1,252	7655.98
1ZAZHN4P3	07/08/2025	16:35:02	Buy	IT.ico	MTA	TPRO	6.115	1,040	6359.6
1ZAZHN4P4	07/08/2025	16:35:02	Buy	IT.ico	MTA	TPRO	6.12	382	2337.84
1ZAZHN4P5	07/08/2025	16:35:02	Buy	IT.ico	MTA	TPRO	6.12	658	4026.96
1ZAZHN4P6	07/08/2025	16:35:02	Buy	IT.ico	MTA	TPRO	6.12	936	5728.32
1ZAZHN4P7	07/08/2025	16:35:02	Buy	IT.ico	MTA	TPRO	6.12	2,150	13158
1ZAZHNF13	08/08/2025	10:30:58	Buy	IT.ico	MTA	TPRO	6.425	1,400	8995
1ZAZHNF14	08/08/2025	10:30:58	Buy	IT.ico	MTA	TPRO	6.425	3,600	23130
1ZAZHNF16	08/08/2025	10:30:58	Buy	IT.ico	MTA	TPRO	6.43	555	3568.65
1ZAZHNF17	08/08/2025	10:30:58	Buy	IT.ico	MTA	TPRO	6.43	176	1131.68
1ZAZHNF18	08/08/2025	10:30:58	Buy	IT.ico	MTA	TPRO	6.435	300	1930.5
1ZAZHNF19	08/08/2025	10:30:58	Buy	IT.ico	MTA	TPRO	6.435	33	212.355
1ZAZHNF1A	08/08/2025	10:30:58	Buy	IT.ico	MTA	TPRO	6.435	651	4189.185
1ZAZHNF1B	08/08/2025	10:30:58	Buy	IT.ico	MTA	TPRO	6.435	815	5244.525
1ZAZHNF1C	08/08/2025	10:30:58	Buy	IT.ico	MTA	TPRO	6.435	70	450.45
1ZAZHNF1D	08/08/2025	10:30:58	Buy	IT.ico	MTA	TPRO	6.44	1,064	6852.16
1ZAZHNF1E	08/08/2025	10:30:58	Buy	IT.ico	MTA	TPRO	6.44	857	5519.08
1ZAZHNF1F	08/08/2025	10:30:58	Buy	IT.ico	MTA	TPRO	6.44	479	3084.76
1ZAZHNF1I	08/08/2025	10:30:58	Buy	IT.ico	MTA	TPRO	6.42	1,238	7947.96
1ZAZHNF1W	08/08/2025	10:31:07	Buy	IT.ico	MTA	TPRO	6.435	65	418.275
1ZAZHNF1X	08/08/2025	10:31:07	Buy	IT.ico	MTA	TPRO	6.435	882	5675.67









1ZAZHNF1Y	08/08/2025	10:31:07	Buy	IT.ico	MTA	TPRO	6.435	57	366.795
1ZAZHNF1Z	08/08/2025	10:31:07	Buy	IT.ico	MTA	TPRO	6.435	176	1132.56
1ZAZHNF20	08/08/2025	10:31:07	Buy	IT.ico	MTA	TPRO	6.44	5,909	38053.96
1ZAZHNF21	08/08/2025	10:31:07	Buy	IT.ico	MTA	TPRO	6.44	4,091	26346.04
1ZAZHNF22	08/08/2025	10:31:07	Buy	IT.ico	MTA	TPRO	6.445	250	1611.25
1ZAZHNF23	08/08/2025	10:31:07	Buy	IT.ico	MTA	TPRO	6.445	3,970	25586.65
1ZAZHNF24	08/08/2025	10:31:07	Buy	IT.ico	MTA	TPRO	6.445	1,217	7843.565
1ZAZHNF25	08/08/2025	10:31:07	Buy	IT.ico	MTA	TPRO	6.445	898	5787.61
1ZAZHNF26	08/08/2025	10:31:07	Buy	IT.ico	MTA	TPRO	6.445	2,485	16015.83
1ZAZHNF2R	08/08/2025	10:31:17	Buy	IT.ico	MTA	TPRO	6.44	63	405.72
1ZAZHNF2S	08/08/2025	10:31:17	Buy	IT.ico	MTA	TPRO	6.44	20	128.8
1ZAZHNF2T	08/08/2025	10:31:17	Buy	IT.ico	MTA	TPRO	6.445	3,545	22847.53
1ZAZHNF2U	08/08/2025	10:31:17	Buy	IT.ico	MTA	TPRO	6.445	51	328.695
1ZAZHNF2V	08/08/2025	10:31:17	Buy	IT.ico	MTA	TPRO	6.445	1,181	7611.545
1ZAZHNF2W	08/08/2025	10:31:17	Buy	IT.ico	MTA	TPRO	6.445	140	902.3
1ZAZHNF5S	08/08/2025	10:33:41	Buy	IT.ico	MTA	TPRO	6.42	3,762	24152.04
1ZAZHNF6N	08/08/2025	10:34:53	Buy	IT.ico	MTA	TPRO	6.42	10	64.2
1ZAZHNF6O	08/08/2025	10:34:53	Buy	IT.ico	MTA	TPRO	6.425	94	603.95
1ZAZHNF6P	08/08/2025	10:34:53	Buy	IT.ico	MTA	TPRO	6.425	10	64.25
1ZAZHNF6Q	08/08/2025	10:34:53	Buy	IT.ico	MTA	TPRO	6.425	72	462.6
1ZAZHNF6R	08/08/2025	10:34:53	Buy	IT.ico	MTA	TPRO	6.43	62	398.66
1ZAZHNF6S	08/08/2025	10:34:53	Buy	IT.ico	MTA	TPRO	6.43	881	5664.83
1ZAZHNF6T	08/08/2025	10:34:53	Buy	IT.ico	MTA	TPRO	6.43	949	6102.07
1ZAZHNF6U	08/08/2025	10:34:53	Buy	IT.ico	MTA	TPRO	6.43	947	6089.21
1ZAZHNF6V	08/08/2025	10:34:53	Buy	IT.ico	MTA	TPRO	6.435	200	1287
1ZAZHNF6W	08/08/2025	10:34:53	Buy	IT.ico	MTA	TPRO	6.435	71	456.885
1ZAZHNF6X	08/08/2025	10:34:53	Buy	IT.ico	MTA	TPRO	6.435	726	4671.81
1ZAZHNF6Y	08/08/2025	10:34:53	Buy	IT.ico	MTA	TPRO	6.435	5,559	35772.17
1ZAZHNF6Z	08/08/2025	10:34:53	Buy	IT.ico	MTA	TPRO	6.435	866	5572.71
1ZAZHNF70	08/08/2025	10:34:53	Buy	IT.ico	MTA	TPRO	6.435	1,553	9993.555
1ZAZHNFOA	08/08/2025	10:48:02	Buy	IT.ico	MTA	TPRO	6.42	502	3222.84
1ZAZHNFOB	08/08/2025	10:48:02	Buy	IT.ico	MTA	TPRO	6.42	278	1784.76
1ZAZHNFOC	08/08/2025	10:48:02	Buy	IT.ico	MTA	TPRO	6.425	63	404.775
1ZAZHNFOD	08/08/2025	10:48:02	Buy	IT.ico	MTA	TPRO	6.425	600	3855
1ZAZHNFOE	08/08/2025	10:48:02	Buy	IT.ico	MTA	TPRO	6.43	645	4147.35
1ZAZHNFOF	08/08/2025	10:48:02	Buy	IT.ico	MTA	TPRO	6.43	925	5947.75
1ZAZHNFOG	08/08/2025	10:48:02	Buy	IT.ico	MTA	TPRO	6.43	4,000	25720
1ZAZHNFOH	08/08/2025	10:48:02	Buy	IT.ico	MTA	TPRO	6.43	1,032	6635.76









1ZAZHNFOI	08/08/2025	10:48:02	Buy	IT.ico	MTA	TPRO	6.43	1,140	7330.2
1ZAZHNFOJ	08/08/2025	10:48:02	Buy	IT.ico	MTA	TPRO	6.43	4,544	29217.92
1ZAZHNFOK	08/08/2025	10:48:02	Buy	IT.ico	MTA	TPRO	6.43	4,271	27462.53
1ZAZHNFW7	08/08/2025	10:54:29	Buy	IT.ico	MTA	TPRO	6.4	1,000	6400
1ZAZHNG2O	08/08/2025	11:00:33	Buy	IT.ico	MTA	TPRO	6.385	1,000	6385
1ZAZHNGDP	08/08/2025	11:09:42	Buy	IT.ico	MTA	TPRO	6.38	1,000	6380
1ZAZHNGMM	08/08/2025	11:17:06	Buy	IT.ico	MTA	TPRO	6.44	67	431.48
1ZAZHNGMQ	08/08/2025	11:17:12	Buy	IT.ico	MTA	TPRO	6.44	1,000	6440
1ZAZHNGU2	08/08/2025	11:22:45	Buy	IT.ico	MTA	TPRO	6.44	68	437.92
1ZAZHNGU3	08/08/2025	11:22:45	Buy	IT.ico	MTA	TPRO	6.44	495	3187.8
1ZAZHNGZ9	08/08/2025	11:26:03	Buy	IT.ico	MTA	TPRO	6.435	1,000	6435
1ZAZHNH1A	08/08/2025	11:28:36	Buy	IT.ico	MTA	TPRO	6.42	320	2054.4
1ZAZHNH1B	08/08/2025	11:28:36	Buy	IT.ico	MTA	TPRO	6.42	680	4365.6
1ZAZHNHA5	08/08/2025	11:34:20	Buy	IT.ico	MTA	TPRO	6.4	1,000	6400
1ZAZHNHNM	08/08/2025	11:42:00	Buy	IT.ico	MTA	TPRO	6.38	443	2826.34
1ZAZHNHO3	08/08/2025	11:42:53	Buy	IT.ico	MTA	TPRO	6.375	1,000	6375
1ZAZHNI0Y	08/08/2025	11:50:14	Buy	IT.ico	MTA	TPRO	6.33	1,000	6330
1ZAZHNILN	08/08/2025	12:04:17	Buy	IT.ico	MTA	TPRO	6.345	635	4029.075
1ZAZHNIOZ	08/08/2025	12:08:00	Buy	IT.ico	MTA	TPRO	6.345	70	444.15
1ZAZHNIP0	08/08/2025	12:08:00	Buy	IT.ico	MTA	TPRO	6.345	217	1376.865
1ZAZHNIQR	08/08/2025	12:10:13	Buy	IT.ico	MTA	TPRO	6.355	132	838.86
1ZAZHNIQS	08/08/2025	12:10:13	Buy	IT.ico	MTA	TPRO	6.355	150	953.25
1ZAZHNIQT	08/08/2025	12:10:13	Buy	IT.ico	MTA	TPRO	6.355	81	514.755
1ZAZHNIQU	08/08/2025	12:10:13	Buy	IT.ico	MTA	TPRO	6.355	340	2160.7
1ZAZHNIXA	08/08/2025	12:18:17	Buy	IT.ico	MTA	TPRO	6.35	433	2749.55
1ZAZHNJ36	08/08/2025	12:22:59	Buy	IT.ico	MTA	TPRO	6.36	48	305.28
1ZAZHNJ37	08/08/2025	12:22:59	Buy	IT.ico	MTA	TPRO	6.36	434	2760.24
1ZAZHNJ38	08/08/2025	12:22:59	Buy	IT.ico	MTA	TPRO	6.36	443	2817.48
1ZAZHNJ39	08/08/2025	12:22:59	Buy	IT.ico	MTA	TPRO	6.36	123	782.28
1ZAZHNJ3I	08/08/2025	12:23:31	Buy	IT.ico	MTA	TPRO	6.355	1,000	6355
1ZAZHNJ8W	08/08/2025	12:29:59	Buy	IT.ico	MTA	TPRO	6.355	1,000	6355
1ZAZHNJLO	08/08/2025	12:39:56	Buy	IT.ico	MTA	TPRO	6.34	166	1052.44
1ZAZHNJLP	08/08/2025	12:39:56	Buy	IT.ico	MTA	TPRO	6.34	834	5287.56
1ZAZHNK4L	08/08/2025	12:56:18	Buy	IT.ico	MTA	TPRO	6.33	216	1367.28
1ZAZHNK4M	08/08/2025	12:56:18	Buy	IT.ico	MTA	TPRO	6.33	216	1367.28
1ZAZHNKAY	08/08/2025	13:00:25	Buy	IT.ico	MTA	TPRO	6.34	8	50.72
1ZAZHNKBT	08/08/2025	13:02:06	Buy	IT.ico	MTA	TPRO	6.355	801	5090.355
1ZAZHNKH1	08/08/2025	13:08:30	Buy	IT.ico	MTA	TPRO	6.36	239	1520.04









1ZAZHNKH2	08/08/2025	13:08:31	Buy	IT.ico	MTA	TPRO	6.355	24	152.52
1ZAZHNKHD	08/08/2025	13:09:09	Buy	IT.ico	MTA	TPRO	6.355	1,000	6355
1ZAZHNKMX	08/08/2025	13:14:18	Buy	IT.ico	MTA	TPRO	6.35	1,000	6350
1ZAZHNKVP	08/08/2025	13:22:37	Buy	IT.ico	MTA	TPRO	6.35	1,000	6350
1ZAZHNL69	08/08/2025	13:33:13	Buy	IT.ico	MTA	TPRO	6.345	559	3546.855
1ZAZHNLGQ	08/08/2025	13:44:57	Buy	IT.ico	MTA	TPRO	6.35	1,000	6350
1ZAZHNLLN	08/08/2025	13:50:58	Buy	IT.ico	MTA	TPRO	6.335	1,000	6335
1ZAZHNLSL	08/08/2025	13:57:42	Buy	IT.ico	MTA	TPRO	6.345	1	6.345
1ZAZHNLWN	08/08/2025	14:03:05	Buy	IT.ico	MTA	TPRO	6.365	1,000	6365
1ZAZHNLXO	08/08/2025	14:05:36	Buy	IT.ico	MTA	TPRO	6.37	206	1312.22
1ZAZHNLXP	08/08/2025	14:05:36	Buy	IT.ico	MTA	TPRO	6.37	188	1197.56
1ZAZHNM2I	08/08/2025	14:09:57	Buy	IT.ico	MTA	TPRO	6.385	1,000	6385
1ZAZHNMK7	08/08/2025	14:21:56	Buy	IT.ico	MTA	TPRO	6.38	1,000	6380
1ZAZHNMKB	08/08/2025	14:21:56	Buy	IT.ico	MTA	TPRO	6.38	1,000	6380
1ZAZHNMYB	08/08/2025	14:32:12	Buy	IT.ico	MTA	TPRO	6.385	1,000	6385
1ZAZHNN1W	08/08/2025	14:36:09	Buy	IT.ico	MTA	TPRO	6.38	218	1390.84
1ZAZHNN3V	08/08/2025	14:38:47	Buy	IT.ico	MTA	TPRO	6.375	1,000	6375
1ZAZHNNBN	08/08/2025	14:44:22	Buy	IT.ico	MTA	TPRO	6.385	1,000	6385
1ZAZHNNKT	08/08/2025	14:53:39	Buy	IT.ico	MTA	TPRO	6.37	14	89.18
1ZAZHNNMW	08/08/2025	14:54:19	Buy	IT.ico	MTA	TPRO	6.37	756	4815.72
1ZAZHNNMX	08/08/2025	14:54:19	Buy	IT.ico	MTA	TPRO	6.37	244	1554.28
1ZAZHNNOJ	08/08/2025	14:56:21	Buy	IT.ico	MTA	TPRO	6.36	137	871.32
1ZAZHNNW4	08/08/2025	15:03:00	Buy	IT.ico	MTA	TPRO	6.385	140	893.9
1ZAZHNNW5	08/08/2025	15:03:00	Buy	IT.ico	MTA	TPRO	6.385	112	715.12
1ZAZHNNXH	08/08/2025	15:04:29	Buy	IT.ico	MTA	TPRO	6.385	177	1130.145
1ZAZHNNYQ	08/08/2025	15:05:31	Buy	IT.ico	MTA	TPRO	6.39	853	5450.67
1ZAZHNO1U	08/08/2025	15:07:29	Buy	IT.ico	MTA	TPRO	6.385	1,000	6385
1ZAZHNO96	08/08/2025	15:15:58	Buy	IT.ico	MTA	TPRO	6.395	1,000	6395
1ZAZHNODN	08/08/2025	15:18:44	Buy	IT.ico	MTA	TPRO	6.38	1,000	6380
1ZAZHNOGV	08/08/2025	15:22:15	Buy	IT.ico	MTA	TPRO	6.375	1,000	6375
1ZAZHNOKA	08/08/2025	15:27:00	Buy	IT.ico	MTA	TPRO	6.36	208	1322.88
1ZAZHNOWJ	08/08/2025	15:31:34	Buy	IT.ico	MTA	TPRO	6.36	342	2175.12
1ZAZHNOWK	08/08/2025	15:31:34	Buy	IT.ico	MTA	TPRO	6.36	658	4184.88
1ZAZHNP87	08/08/2025	15:37:49	Buy	IT.ico	MTA	TPRO	6.365	40	254.6
1ZAZHNP88	08/08/2025	15:37:49	Buy	IT.ico	MTA	TPRO	6.365	130	827.45
1ZAZHNP89	08/08/2025	15:37:49	Buy	IT.ico	MTA	TPRO	6.365	250	1591.25
1ZAZHNPAB	08/08/2025	15:39:51	Buy	IT.ico	MTA	TPRO	6.37	207	1318.59
1ZAZHNPB5	08/08/2025	15:40:51	Buy	IT.ico	MTA	TPRO	6.375	200	1275









1ZAZHNPB6	08/08/2025	15:40:51	Buy	IT.ico	MTA	TPRO	6.375	800	5100
1ZAZHNPBB	08/08/2025	15:41:14	Buy	IT.ico	MTA	TPRO	6.37	1,000	6370
1ZAZHNPH3	08/08/2025	15:46:50	Buy	IT.ico	MTA	TPRO	6.38	1,000	6380
1ZAZHNPUJ	08/08/2025	15:54:51	Buy	IT.ico	MTA	TPRO	6.38	1,000	6380
1ZAZHNPXE	08/08/2025	15:56:00	Buy	IT.ico	MTA	TPRO	6.37	1,000	6370
1ZAZHNQ3B	08/08/2025	16:00:49	Buy	IT.ico	MTA	TPRO	6.36	189	1202.04
1ZAZHNQ3O	08/08/2025	16:00:55	Buy	IT.ico	MTA	TPRO	6.36	1,000	6360
1ZAZHNQAP	08/08/2025	16:06:14	Buy	IT.ico	MTA	TPRO	6.375	1,000	6375
1ZAZHNQII	08/08/2025	16:09:01	Buy	IT.ico	MTA	TPRO	6.385	1,000	6385
1ZAZHNR01	08/08/2025	16:12:52	Buy	IT.ico	MTA	TPRO	6.38	792	5052.96
1ZAZHNR02	08/08/2025	16:12:52	Buy	IT.ico	MTA	TPRO	6.38	208	1327.04
1ZAZHNRA8	08/08/2025	16:16:50	Buy	IT.ico	MTA	TPRO	6.375	1,000	6375
1ZAZHNROG	08/08/2025	16:23:47	Buy	IT.ico	MTA	TPRO	6.42	1,000	6420
1ZAZHNS7C	08/08/2025	16:27:29	Buy	IT.ico	MTA	TPRO	6.415	1,000	6415
1ZAZHNSF8	08/08/2025	16:31:44	Buy	IT.ico	MTA	TPRO	6.415	1,000	6415
1ZAZHNSIM	08/08/2025	16:33:41	Buy	IT.ico	MTA	TPRO	6.41	1,000	6410
1ZAZHNSS9	08/08/2025	16:38:50	Buy	IT.ico	MTA	TPRO	6.415	1,000	6415
1ZAZHNT1D	08/08/2025	16:41:47	Buy	IT.ico	MTA	TPRO	6.405	411	2632.455
1ZAZHNT6E	08/08/2025	16:44:29	Buy	IT.ico	MTA	TPRO	6.405	330	2113.65
1ZAZHNT7Y	08/08/2025	16:45:06	Buy	IT.ico	MTA	TPRO	6.415	5	32.075
1ZAZHNTAG	08/08/2025	16:46:12	Buy	IT.ico	MTA	TPRO	6.425	200	1285
1ZAZHNTAH	08/08/2025	16:46:12	Buy	IT.ico	MTA	TPRO	6.425	800	5140
1ZAZHNTC0	08/08/2025	16:46:49	Buy	IT.ico	MTA	TPRO	6.42	241	1547.22
1ZAZHNTF3	08/08/2025	16:48:48	Buy	IT.ico	MTA	TPRO	6.42	1,000	6420
1ZAZHNTL8	08/08/2025	16:51:26	Buy	IT.ico	MTA	TPRO	6.425	1,000	6425
1ZAZHNTUE	08/08/2025	16:56:07	Buy	IT.ico	MTA	TPRO	6.44	1,000	6440
1ZAZHNU23	08/08/2025	16:59:32	Buy	IT.ico	MTA	TPRO	6.445	699	4505.055
1ZAZHNUDW	08/08/2025	17:04:53	Buy	IT.ico	MTA	TPRO	6.45	1,000	6450
1ZAZHNUJ7	08/08/2025	17:06:20	Buy	IT.ico	MTA	TPRO	6.44	256	1648.64
1ZAZHNUKJ	08/08/2025	17:07:34	Buy	IT.ico	MTA	TPRO	6.445	1,000	6445
1ZAZHNUXP	08/08/2025	17:13:25	Buy	IT.ico	MTA	TPRO	6.45	398	2567.1
1ZAZHNUXQ	08/08/2025	17:13:25	Buy	IT.ico	MTA	TPRO	6.45	602	3882.9
1ZAZHNUY0	08/08/2025	17:13:39	Buy	IT.ico	MTA	TPRO	6.445	1,000	6445
1ZAZHNVAU	08/08/2025	17:16:48	Buy	IT.ico	MTA	TPRO	6.46	746	4819.16

Fine Comunicato n.20250-62-2025

Numero di Pagine: 27